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NEW QUESTION 1
- (Exam Topic 3)

A network administrator must optimize the segment size of the TCP packet on the DMVPN IPsec protected tunnel interface, which carries application traffic from
the head office to a designated branch. The TCP segment size must not overwhelm the MTU of the outbound link. Which configuration must be applied to the

router to improve the application performance?

interface tunnel30

ip mtu 1400

ip tcp packet-size 1260
|

crypto ipsec fragmentation after-encryption

interface tunnel30

ip mtu 1400

ip tcp payload-size 1360
!

crypto ipsec fragmentation before-encryption

interface tunnel3d

ip mtu 1400

ip tep adjust-mss 1360
I

crypto ipsec fragmentation after-encryption

interface tunnei3d

ip mtu 1400

ip tcp max-segment 1360
|

crypto ipsec fragmentation before-encryption

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 2
- (Exam Topic 3)

anabla secrel o <password=

usernamea cisco privilege 15 secret 5 <password>
username operator password 7 <passwords=

line why O 4

session-imeoul 240

password 7 <password>

transpor ingut telnet

Refer to the exhibit. The authentication is not working as desired and the user drops into user-exec mode. Which configuration resolves the issue?

a3a new-model

aaa authentication login default local
aaa authorization exec default local

|

lime vy O 4
legin authentication default
authorization exec default

aaa new-model

aaa authentication login default local
aaa authorization priv default 15

|

line vty 0 &
legin authentication default
authorization exec privls

a3y new-model

aaa authentication lagin local
A3a authorization exec local

]

lime vty 0 4
legin authentication local
autherization exec default

aaa new-model

aaa authentication comman-id default local
Aaa authorization exec default local

1

lime vy 0 4

legin authentication default

authorization exec default

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 3
- (Exam Topic 3)
Refer to the exhibit.
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18.1.3.9/2a 10.16.18.8,2a

E9

19.1.1.0/24

ALBR1L ASBRZ ASBER N

neighbor 10.1.1.1 raemote-as 100
neighbor 10.1.2.2 remcte—-as 100
neighbor 10.1.3.3 remote—as 100

router bgp 100
neighbor 10.1.2.4 remote-as 100

ASBR4

router bgp 100
neighbor 10.1.3_ 4 ramote-as 100

The administrator configured the network devise for end-to-end reachability, but the ASBRs are not propagation routes to each other. Which set of configuration

resolves this issue?

A. router bgp 100 neighbor 10.1.1.1 route-reflector-client neighbor 10.1.2.2 route-reflector-client neighbor 10.1.3.3 route-reflector-client

B. router bgp 100 neighbor 10.1.1.1 next-hop-self neighbor 10.1.2.2 next-hop-self neighbor 10.1.3.3 next-hop-self

C. router bgp 100neighbor 10.1.1.1 update-source LoopbackOneighbor 10.1.2.2 update-source LoopbackOneighbor 10.1 3.3 update-source Loopback0

D. router bgp 100neighbor 10.1.1.1 ebgp-multihopneighbor 1021.2.2 ebgp-multihopneighbor 10.1.3.3 ebgp-multihop

Answer: A

NEW QUESTION 4

- (Exam Topic 3)

Refer to the exhibit.

*Sep 26 19:50:43.504: SNMP: Packet received via UDP from
192.168.1.2 on GigabitEthernet0/1SrParseV3SnmpMessage: No
matching Engine ID.

SrParseV3SnmpMessage: Failed.
SrDoSnmp: authentication failure, Unknown Engine ID

*Sep 26 19:50:43.504: SNMP: Report, reqid 29548, errstat 0,
erridx 0

internet.6.3.15.1.1.40=3

*Sep 26 19:50:43.508: SNMP: Packet sent via UDP to 192.168.1.2
process_mgmt_req_int: UDP packet being de-queued

Which two commands provide the administrator with the information needed to resolve the issue? (Choose two.)

A. snmp user

B. debug snmp engine-id
C. debug snmpv3 engine-id
D. debug snmp packet

E. showsnmpv3 user

Answer: AE

NEW QUESTION 5
- (Exam Topic 3)

An engineer configures PBR on R5 and wants to create a policy that matches traffic destined toward 10.10.10.0/24 and forward 10.1.1.1. The traffic must also
have its IP precedence set to 5.All other traffic should be forward toward 10.1.1.2 and have its IP precedence set to 0.Which configuration meets the
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requirements?

A. access-list 1 permit 10.10.10.0 0.0.0.255 access-list 2 permit anyroute-map CCNP permit 10 match ip address 1set ip next-hop 10.1.1.1 set ip precedence
5lroute-map CCNP permit 20 match ip address 2set ip next-hop 10.1.1.2set ip precedence Oroute-map CCNP permit 30

B. access-list 100 permit ip any 10.10.10.0 0.0.0.255 route-map CCNP permit 10match ip address 100 set ip next-hop 10.1.1.1 set ip precedence O!route-map
CCNP permit 20 set ip next-hop 10.1.1.2set ip precedence 5!route-map CCNP permit 30

C. access-list 1 permit 10.10.10.0 0.0.0.255 route-map CCNP permit 10match ip address 1set ip next-hop 10.1.1.1set ip precedence 5!route-map CCNP permit 20
set ip next-hop 10.1.1.2set ip precedence 0

D. access-list 100 permit ip any 10.10.10.0 0.0.0.255 route-map CCNP permit 10match ip address 100 set ip next-hop 10.1.1.1 set ip precedence 5!route-map
CCNP permit 20 set ip next-hop 10.1.1.2set ip precedence 0

Answer: D

NEW QUESTION 6
- (Exam Topic 3)
Which two components are required for MPLS Layer 3 VPN configuration? (Choose two)

A. Use pseudowire for Layer 2 routes
B. Use MP-BGP for customer routes
C. Use OSPF between PE and CE

D. Use a unique RD per customer VRF
E. Use LDP for customer routes

Answer: CD

NEW QUESTION 7
- (Exam Topic 3)
Refer to the exhibit.

R3
R4
181.16.2.4/30

3 %

181.16.2.8/30 181.16.2.0/30
51 51
Fﬂa EIGRP _‘7_%
R2 RIP R5
s0 s0
178.1.10.4/30 178.1.10.0/30

s0
T &

192.168.1.0/24

Mutual redistribution is enabled between RIP and EIGRP on R2 and R5. Which configuration resolves the routing loop for the 192.168.1.0/24 network?

A. R2:router eigrp 10network 181.16.0.0redistribute rip metric 1 1 1 1 1distribute-list 1 in s1lrouter ripnetwork 178.1.0.0redistribute eigrp 10 metric 2!access-list 1
deny 192.168.1.0 access-list 1 permit anyR5:router eigrp 10network 181.16.0.0redistribute rip metric 1 1 1 1 1 distribute-list 1 in sOl!router ripnetwork
178.1.0.0redistribute eigrp 10 metric 2!access-list 1 deny 192.168.1.0 access-list 1 permit any

B. R2:router eigrp 10network 181.16.0.0redistribute rip metric 1 1 1 1 1 distribute-list 1 in sOlrouter ripnetwork 178.1.0.0redistribute eigrp 10 metric 2!laccess-list 1
deny 192.168.1.0 access-list 1 permit anyR5:router eigrp 10network 181.16.0.0redistribute rip metric 1 1 1 1 1 distribute-list 1 in sOl!router ripnetwork
178.1.0.0redistribute eigrp 10 metric 2!'access-list 1 deny 192.168.1.0 access-list 1 permit any

C. R2:router eigrp 10network 181.16.0.0redistribute rip metric 1 1 1 1 1 distribute-list 1 in sOlrouter ripnetwork 178.1.0.0redistribute eigrp 10 metric 2!'access-list 1
deny 192.168.1.0 access-list 1 permit anyR5:router eigrp 10network 181.16.0.0redistribute rip metric 1 1 1 1 1 distribute-list 1 in s1l!router ripnetwork
178.1.0.0redistribute eigrp 10 metric 2!access-list 1 deny 192.168.1.0 access-list 1 permit any

D. R2:router eigrp 7network 181.16.0.0redistribute rip metric 1 1 1 1 1 distribute-list 1 in s1!router ripnetwork 178.1.0.0redistribute eigrp 7 metric 2!access-list 1
deny 192.168.1.0 access-list 1 permit anyR5:router eigrp 7network 181.16.0.0redistribute rip metric 1 1 1 1 1 distribute-list 1 in s1!router ripnetwork
178.1.0.0redistribute eigrp 7 metric 2!access-list 1 deny 192.168.1.0 access-list 1 permit any

Answer: D

Explanation:
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https://www.cisco.com/c/en/us/support/docs/ip/enhanced-interior-gateway-routing-protocol-eigrp/8606-redist.ht

NEW QUESTION 8
- (Exam Topic 3)
What is a characteristic of IPv6 RA Guard?

A. RA messages are allowed from the host port to the switch
B. It is unable to protect tunneled traffic

C. It filters rogue RA broadcasts from connected hosts

D. It is supported on the egress direction of the switch

Answer: C
NEW QUESTION 9

- (Exam Topic 3)
Refer to the exhibit.

Rl#sh ip route
10.0.0.0/8 is variably subnetted, 3 subnets,
10.1.2.0/24 [90/409600) wia 10.1.100.10, O
astEthernet/0
10.1.1.0/24 [90/409600) wvia 10.1.100.10, 00:08:45,
astEthernet0/0
i 10.1.100.0/24 is directly connected, ast
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An engineer configures the router 10.1.100.10 for EIGRP autosummarization so that R1 should receive the summary route of 10.0.0.0/8. However, R1 receives
more specific /24 routes.
Which action resolves this issue?

A. Router R1 should configure ip summary address eigrp (AS number) 10.0.0.0 255.0.0.0 for the R1 Fast Ethernet 0/0 connected interface.

B. Router R1 should configure ip route 10.0.0.0 255.0.0.0 null O for the routes that are received on R1.

C. Router 10.1.100.10 should configure ip route 10.0.0.0 255.0.0.0 null O for the routes that are summarized toward R1.

D. Router 10.1.100.10 should configure ip summary address eigrp (AS number) 10.0.0.0 255.0.0.0 for the R1 Fast Ethernet 0/0 connected interface.

Answer: D

NEW QUESTION 10
- (Exam Topic 3)
The summary route is not shown in the RouterB routing table after this below configuration on Router_A
- interface ethernet 0
description location 1D:S4289T9E0SF 19
ip address 192.168.3.1 255.255.255.0
ip summary-address eigrp 1 172.16.80.0 255.255.240.0

Which Router_A configuration resolves the issue by advertising the summary route to Router B?

interface loopback 0

ip address 172.16.96.1 255.255.255.0

interface Ethernet 0

ip address 192.168.3.1 255.255.255.0

ip summary-address eigrp 1 172.16.80.0 255.255.240.0

interface loopback 0

ip address 172.16.81.1 255.255.255.0

interface Ethernet 0

ip address 192 168.3.91 255.255.255.0

ip summary-address eigrp 1 172.16.80.0 255.255.240.0

interface loopback 0

ip address 172.16.79.1 255.255.255.0

interface Ethernet 0

ip address 192.168.3.1 255.255.255.0

ip summary-address eigrp 1 172.16.80.0:255.255.240.0

interface loopback 0

ip address 172.18.81.1 255.255.255.0

interface Ethernet 0

ip address 192.168.3.1 255.255.255.0

ip summary-address eigrp 1 172.16.80.0 255.255.240.0

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 10
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- (Exam Topic 3)
Refer to the exhibit.

EIGRPF 10

192.168.10.0/2 4
192. 168 F0.0vT4
192 168_30.0/24
192 168 40 0/24

OSPF 10

An engineer must redistribute networks 192.168.10.0/24 and 192.168.20.0/24 into OSPF from EIGRP. where the metric must be added when traversing through
multiple hops to start an external route of 20 The engineer notices that the external metric is fixed and does not add at each hop. Which configuration resolves the
issue?

F2{config)faccess:list 10 permit 192_168.10.0 0.0.0.255
R2(config)faccess-list 10'pormit 192.168.20.0 0.0.0.255

R2[conflig#Froute-map RD permit 10
R2{confg-route-map imatch ip address 10
R2({config-route-map j#set metric 20
R2{config-roule-map #set metric-type type-2

R2{config@router ospl 10
R2(config-routes fredistribule eigrp 10 subnets route-map RD

R2(configj#access-list 10 permit 192.168.10.0 0.0.0.255
R2[config#access-liat 10 permit 192.168.20.0 0.0.0.255

R2(config#route-map RD permit 10
R2{conlg-rouie-map #match ip address 10
B2 (config-route-map j#aat metric 20
R2{config-roule-map #set motric-typae typa-1

R2(configiErouter ospl 10
R2{config-router iredistribute aigrp 10 subnets route-mop RD

R1{configj#accessdiet 10 permit 192.168.10.0 00,0255
R1{config)#access-list 10 permit 192.168.20.0 0,0.0.255
)

R 1{config jEroute-map RD permit 10
R1{config-route-map #match ip address 10
R1jconfig-route-map J#set metric 20
R1{config-route-map j#set metric-type type-

f

R1{config iEroutar ospf 10
R1jconfig-router Wredistribute eigrp 10 subnets route-map RD

Rijconfigifaccess-list 10 permit 192.168.10.0 0.0.0.255
R 1{configi#access.list 10 permit 192.168.20.0 0.0.0.255
|

R1[confg iEroute-map RD permit 10
R1{config-route-map#match ip address 10
R 1{config-route-map Wset matric 20
R1{config-route-map j#set metric-type type-2
|

R1 {config#router ospl 10 )
R {config-router Wredistribute eigrp 10 subnets route-map RD

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 12

- (Exam Topic 3)

What is LDP label binding?

A. neighboring router with label

B. source prefix with label

C. destination prefix with label

D. two routers with label distribution session

Answer: C

Explanation:
Text Description automatically generated with medium confidence
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For every IGP IP prefix in its IP routing table, each LSR creates a local binding—that is. it binds
a label to the IPv4 prefix. The LSR then distributes this binding to all its LDP neighbors. These
received bindings become remote bindings. The neighbors then store these remote and local
bindings in a special table, the label information base (LIB). Each LSR has only one local binding

NEW QUESTION 14

- (Exam Topic 3)
Customer ABC BGP Peering BGPASI00 |
OSPFv IPV6 !
:
' BGP AS 100 !
OSPEVIIPVE :
]

SW100#sh ip bgp ipvé uni summ
BGP router identifier 100.0.0.1, local AS number 100
BGP table wversicn is 1, main routing table version 1

Meighbor v AS MsgRcvd MsgSent TblVer 1InQ OutQ Up/Down State/PfxRcd
2001:ABC:AABB:1100:1122:1111:2222:AAA1
4 100 6 5 1 0 0 00:00:58 0

SW100#sh ip bgp ipv6 unicast
SW1004

Rlfsh ip bgp ipvé uni
BGP table version is 4, local router ID is 1.1.1.1

Network Next Hop Metric LocPrf Weight Path
* 4 2001::4/128 2001::4 0 100 0 300 i
*>i 2002::2/128 2001::2 0 100 0i

R1#
Rl#sh ipvé route
0 2001::2/128 [110/1)
via FEB0::5200:C3FF:FE01:E600, GigabitEthernet0/0
B 2002::2/128 [200/0]

via 2001::2

Refer to the exhibit SW100 cannot receive routes from R1 Which configuration resolves the issue?

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy 300-410 dumps
@ 2passeasy passeasy g

https://www.2passeasy.com/dumps/300-410/ (530 New Questions)

R1
router bgp 100
address-family ipvé
neighbor 2001::2 route-reflector-client
neighbor 2001:ABC:AABB:1100:1122:1111:2222: AAA2 route-reflector-client

R2
router bgp 100
address-family ipvé
neighbor 2001::2
neighbor 2001::1 next-hop-self

R1
router bgp 100
address-family ipv6
neighbor 2001::2 route-reflector-client
neighbor 2001:ABC:AABB:1100:1122:1111:2222: AAA2 route-reflector-client

R2
router bgp 100
address-family ipvé

neighbor 2001::2

neighbor 2001::1 as-override

R1

router bgp 100
address-family ipvé
no synchronization

R2

router bgp 100
address-family ipvé
no synchronization

SW100

router bgp 100
address-family ipv6é
no synchronization

R1

router bgp 100
address-family ipvé
redistribute connected

R2

router bgp 100
address-family ipvé
redistribute connected

A. Option A
B. Option B
C. Option C
D. Option C

Answer: A

NEW QUESTION 16
- (Exam Topic 3)
Refer to the exhibit.

Rl (config) #ip access-list standard EIGRP-FILTER

Rl (config-atd-nacl) épermit 10.10.10.0 0.0.0.255

Rl (confiqg) router eigrp 10

Rl (config-router) bdistribute-list route-map EIGRP in
I

Bl {confiq)éroute-map EIGRP permit 10

Rl (config-route-map) ématch ip address EIGRP- FILTER

Rléshow ip route eigrp

An engineer must filter incoming EIGRP updates to allow only a set of specific prefixes. The distribute list is tested, and it filters out all routes except network
10.10.10.0/24. How should the engineer temporarily allow all prefixes to be learned by the routers again without adjusting the existing access list?

A. A permit 20 statement should be added before completing the ACL with the required prefixes, and then the permit 20 statement can be removed.

B. A permit any statement should be added before completing the ACL with the required prefixes and then the permit any statement can be removed.
C. A continue statement should be added within the permit 10 statement before completing the ACL with the required prefixes, and then the continue statement
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can be removed.
D. An extended access list must be used instead of a standard access list to accomplish the task

Answer: C
NEW QUESTION 19

- (Exam Topic 3)
Refer to the exhibit.

192 1681 0724 192168 3 0724
192 168 20724 T, 193 1604 024
L o g i, i
L3 NBEph
&G O v O G
usai Tauys
! )
.'|, J
': _'..-' L}
\'-\
o i
v 8.V gd ™ L} L ']
S MEpa : T TP
" /
b ¥
' | { £ ¥
[exGre 222 | |
Capa Townm
192 1848 8 024
192188 8. 024

T i N
D 192.168.2.0/24 [90/M4Uzovupvia roz roosrzoT, voiwgorr,cthernet0/0
D 192.168.3.0/24 [90/409600] via 192.168.13.2, 00:17:23, Ethernet0/1
D 192.168.4.0/24 [90/409600] via 192.168.13.2, 00:17:23, Ethernet0/1
192.168.5.0/24 is variably subnetted, 2 subnets, 2 masks
C 192.168.5.0/24 is directly connected, Loopback0
L 192.168.5.1/32 is directly connected, Loopback(
192.168.6.0/24 is variably subnetted, 2 subnets, 2 masks
C 192.168.6.0/24 is direclly connected, Loopback1
L 192.168.6.1/32 is directly connected, Loopback1
D 192.168.11.0/24 [20/307200] via 192.168.13.2, 00:17:40, Ethernet0/1
[90/307200] via 192.168.12.1, 00:17:40, Ethernet0/0
192.168.12.0/24 is variably subnetted, 2 subnets, 2 masks
192.168.12.0/24 is directly connected, Ethernet0/0
192.168.12.3/32 is direclly connected, Ethernet/0
192.168.13.0/24 is variably subnetted, 2 subnets, 2 masks
C 192.168.13.0/24 is direclly connected, Ethernet0/1
L 192.168.13.3/32 is direclly connecled, Ethernet0/1

O

The network administrator must configure Cape Town to reach Dubai via Tokyo based on the speeds provided by the service provider. It was noticed that Cape

Town is reaching Dubai directly and failed to meet the requirement. Which configuration fixes the issue?
A)

Dubai

router eigrp 100
variance 2

B)

CapeTown

router eigrp 100
variance 2

®)

CapeTown
interface E 0/0
bandwidth 5000
interface E 0/1

bandwidth 10000
D)
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CapeTown

interface E 0/0
bandwidth 5000
interface E 0/
bandwidth 10000

Dubai

interface E 0/0
bandwidth 50000
interface E 0/1
bandwidth 5000

Tokyo

interface E 0/0
bandwidth 50000
interface E 0/1
bandwidth 10000

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 20
- (Exam Topic 3)
What is the purpose of an OSPF sham-link?

A. to allow intra-area routing when OSPF is used as the PE-CE connection protocol in an MPLS VPN network

B. to correct OSPF backdoor routing when OSPF is used as the PE-CE connection protocol *i an MPLS VPN network
C. to correct OSPF backdoor routing when OSPF is used as the PE-PE connection protocol m an MPLS VPN network
D. to allow inter-area routing when OSPF is used as the PE-CE connection protocol in a MPLS VPN network

Answer: C

NEW QUESTION 24
- (Exam Topic 3)
Refer to the exhibit.

Rl#

router ospf 1

redistribute rip subnets

network 131.108.1.0 0.0.8.255 area 2
network 131.1088.2.9 0.0.08.255 area 2
distribute-list 1 out

|

access-list 1 permit 132.108.4.8 8.8.8.255

The R1 OSPF neighbor is not receiving type 5 external LSAs for 132.108.2.0/24 and 132.108.3.0/24 networks. Which configuration command resolves the issue?
A. access-list 1 permit 132.108.0.0 0.0.1.255
B. access-list 1 permit 132.108.0.0 0.0.3.255
C. access-list 1 permit 132.108.2.0 0.0.0.255
D. access-list 1 permit 132.108.4.0 0.0.3.255

Answer: B

NEW QUESTION 29
- (Exam Topic 3)
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% @m. 165.201.2/30 S S 764.165.201 6/30 @

10.60,60.6 RE Rlfping 10.60,60.6 | 1
NGRshowr ip s responder Type etcapl sequento (o abort . !
General IP SLA Responder on Control port 15967 :‘-::r:-r.z 5, 10:0-byte ICMP Echos 1o 1060605, imeout is T seconds:
General IP SLA Responder on Control V2 port 1187 |
General IP SLA Responder 1! Uriabled Success rate i5 100 percent (3/5), round-trig min/ave/max = 1/1/1 ms l
Rlm
Permanent Port IP 5LA Responder ip #la 650
Permanent Port P SLA Responder i1 Disabled wep-piler 10060606 16384 codec g729a codec-5i2e 20
- = 104 164
Ireguenty 5
ip 12 sehedule 650 ke forever start Lime now ==——mrrey

Rlmshow ip sla u |
IPSLAS Latest ODperation Summany
Codes: * active, ® inattive, = pending

In Type Destination  5tats  Retwrn Losd

(mi) Cose Run
o . il PR B Rr— |
50 udg-jater 106060 e connecti 32 seconds ag |
on 9 |

Refer to the exhibit. Which configuration resolves the IP SLA issue from R1 to the server?

A. R6(config)#ip sla responder

B. R6(config)#ip sla responder udp-echo ipaddress 10.60.60.6 po 5000
C. R6(config)#ip sla 650 R6(config-ip-sla)ff udp-jitter 10.60.60.6

D. R6(config)#ip sla schedule 10 life forever start-time now

Answer: A

NEW QUESTION 33
- (Exam Topic 3)
Refer to the exhibit.

| “.#show 1p route eigrp | include 10.1.

:show 1p route eigrp | include 10.1.

An engineer configures DMVPN and receives the hub location prefix of 10.1.1.0724 on R2 and R3 The R3 prefix of 10 1.3.0/24 is not received on R2. and the R2
prefix 10.1,2.0/24 is not received on R3. Which action reserves the issue?

A. Split horizon prevents the routes from being advertised between spoke routers it should be disabled with the command no ip split-horizon eigrp 10 on the tunnel
interface of R1

B. There is no spoke-to-spoke connection DMVPN configuration should be modified to enable a tunnel connection between R2 and R3 and neighbor relationship
confirmed by use of the show ip eigrp neighbor command

C. Split horizon prevents the routes from being advertised between spoke routers it should be disabled with the no ip split-horizon eigrp 10 command on the Gi0/0
interface of R1.

D. There is no spoke-to-spoke connection DMVPN configuration should be modified with a manual neighbor relationship configured between R2 and R3 and
confirmed bb use of the show ip eigrp neighbor command.

Answer: A

Explanation:

In this topology, the Hub router will receive advertisements from R2 Spoke router on its tunnel interface. The problem here is that it also has a connection with R3
Spoke on that same tunnel interface. If we don’t disable split-horizon, then the Hub will not relay routes from R2 to R3 and the other way around. That is because
it received those routes on the same interface tunnel and therefore

it cannot advertise back out that same interface (split-horizon rule). Therefore we must disable splithorizon on the Hub router to make sure the Spokes know about
each other.
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NEW QUESTION 36
- (Exam Topic 3)
Refer to the exhibit.

kl#4 show ip cspf database self-originate

DSPF Roprkaer/ wich T

E VELE { i 1 - B e
A X2 . ad 20 AEDOQDIR0] P BOZTTEE

FOSFESL=FLOOD WAR: Procesa 1 fluahe= LSA

B ST [y E F =
T adv r 16, g y. 1l im ar il

After configuring OSPF in R1, some external destinations in the network became unreachable. Which action resolves the issue?

A. Clear the OSPF process on R1 to flush stale LSAs sent by other routers.

B. Change the R1 router ID from 10.255.255.1 to a unique value and clear the process.
C. Increase the SPF delay interval on R1 to synchronize routes.

D. Disconnect the router with the OSPF router ID 0.0.0.0 from the network.

Answer: B

NEW QUESTION 37
- (Exam Topic 3)
Which router attaches the VPN label to incoming packets from CE routing?

A. CE router
B. core router
C. P router
D. PE router

Answer: D

NEW QUESTION 39

- (Exam Topic 3)

Refer to the exhibit.

A network administrator is troubleshooting OSPF adjacency issue by going through the console logs in the router, but due to an overwhelming log message stream
it is impossible to capture the problem Which two commands reduce console log messages to relevant OSPF neighbor problem details so that the issue can be
resolved? (Choose two)

A. debug condition interface

B. debug condition ip

C. debug condition ospf neighbor

D. debug condition session-id ADJCHG
E. debug condition all

Answer: AD

NEW QUESTION 43
- (Exam Topic 3)

¢ copy flash:packages.conf ftp://192.0.2.40/

#

x

Refer to the exhibit. An administrator must upload the packages conf Me to an FTP server. However, the FTP server rejected anonymous service and required
users to authenticate What are the two ways to resolve the issue? (Choose two.)

A. Use is ftp username and ip ftp password configuration commands to specify valid FTP server credentials.
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B. Use the copy flash:packages.conf scp: command instead and enter the FTP server credentials when prompted.

C. Enter the FTP server credentials directly In the FTP URL using the ftp://username:passwordQ192.0.2.40/ syntax .

D. Create a user on the rooter matching the username and password on the FTP server and log in before attempting the copy
E. Use the copy flash-packages conf ftp: command instead and enter the FTP server credent-ais when prompted.

Answer: AC

NEW QUESTION 45
- (Exam Topic 3)

What is considered the primary advantage of running BFD?

A. reduction in time needed to detect Layer 2 switched neighbor failures
B. reduction in time needed to detect Layer 3 routing neighbor failures
C. reduction in CPU needed to detect Layer 2 switch neighbor failures
D. reduction in CPU needed to detect Layer 3 routing neighbor failures

Answer: B

NEW QUESTION 48
- (Exam Topic 3)

10.255.255.1/32

£

e | 28 2
ﬁ 10.0.12,0/24 iIi

10.255.255.3/32

3 79

10.0.23.0/24

roucer bgp b S

neighbor 10.2

neighbor 10.255.25

PEL# show run | sec router bgp

bgp log-nelighbor-changes

FEL# debug ip tcp transactions

PEL# debug ip icmp

[+..2nip

"Feb 2.2 14 12.374: TCE ending SYK 1 3132107

FFabh 22 1:04:1 374: TCPI 1&CT 1o L 5 55

pdverti=i M5 1460

Fal L 14 i: 14 rd: TCPI state was o = THSER

\. 255,255, 3(1759) |

Feb 22 14:04:12 T5; ICMI dst (10,25 s Imir

prohiblted unreachable rev from 10.0.12.2

*Feb 22 14:04:12.375: TCPI [CMF destinaticr i

roceived

*Feb 22 14:04:12.375: Released port 21381 in Transport |

Agent for TCP IP type 1 delay 240000

*Feb 22 14:04:12.375: TCP): state was SYNSENT » CLOSED [21381
L0.256.255.3(17%) )

*Feb 22 14:04:12.375:; TCB OxE3SASZBE destroyed

Refer to the exhibit. The administrator is troubleshooting a BGP peering between PE1 and PES3 that is unable to establish Which action resolves the issue?

A. P2 must have a route to PE3 to establish a BGP session to PE1
B. Disable sending ICMP unreachables on P2 to allow PE1 to establish a session with PE3
C. Ensure that the PE3 loopback address is used as a source for BGP peering to PE1
D. Remove the traffic filtering rules on P2 blocking the BGP communication between PE1 and PE3

Answer: C

NEW QUESTION 50

- (Exam Topic 3)
[r— - .
I: Commiundties
W Lo/l |E0y3 ) Resd Only : CiaOUadr
| vLAN 1D Read/Wrie | Clscowruser

J C—
—
UserSWWie MBS Server
10.221.10.11

Jieriw2 e

agcess-hit 1

|} ;_I:El-l 10:221.10.11
SsSB4y 27 pefnit 10.221.10.12

TP b FoT
INTID e e
Tilaats AT o
SONTHR R Ty

community Cisc0lls3r RO 11
community CissDwrasir WV 11

group RETWVIEW w3 priv nead NETVHW accees 11
Eroup NETADMIN w3 prv read NETVIEW write NETADMIN access 11

Refer to the exhibit. An engineer configured SNMP Commimes on UserSW2 switch, but the SNMP server cannot upload modified configurations to the switch.
Which configuration resolves this issue?
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A. snmp-server community Ciscowruser RW 11

B. snmp-server group NETADMIN v3 priv read NETVIEW write NETADMIN access 22
C. snmp-server community CiscOUs3r RW 11

D. snmp-server group NETVIEW v2c priv read NETVIEW access 11

Answer: A

NEW QUESTION 51
- (Exam Topic 3)

A. The administrator distance should be raised to 120 from the ASBR 104 15.5.

B. The redistributed prefixes should be advertised as Type 1.

C. The ASBR 10 4 17 6 should assign a tag to match and assign a tower metnc on R1
D. The administrative distance should be raised to 120 from the ASBR 104 17 6

Answer: B
NEW QUESTION 53

- (Exam Topic 3)
Refer to the exhibit.

B Jhaivei o e TopEaay 8 e B e by engip Wiy T
P EGEP Topaokopy Teble for A% 100010 30 X0 2 W AP Tapokagy Teble for &50LADNIG 0 301D
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Bl ke ip e B Iogeikingy BTN { replery aThew OO0 1 gL LDLN SFgn
1§ R Lopoiogry Lebee fos AL 0 LD L0 W 4wt | il lirlirety ] 1 TRerrdertl
& 10,20 3¢ TRt aln riadle o e
" r - w X 3l " ) L o - " i
. " l |
i iy, | T
% i |
il bt .
" j 141 4 !
. J

A bank ATM site has difficulty connecting with the bank server. A network engineer troubleshoots the issue and finds that R4 has no active route to the bank ATM

site. Which action resolves the issue?

A. Advertise 10.10.30.0/24 subnet in R1 EIGRP AS.
B. EIGRP peering between R3 and R4 to be fixed.
C. EIGRP peering between R1 and R2 to be fixed.
D. Advertise 10.10.30.0/24 subnet in R3 EIGRP AS.

Answer: D

NEW QUESTION 58
- (Exam Topic 3)

ip access-1list extended CoPP-I1CMP
permit lemp any any echo

'

ip access-list extended CoPP-BGP
permit top any eq bgp any established
'

ip access-11s1 extended CoPP-EIGRP
permil eiqgrp any host 224.0.0.10

'

Class-map match-all CoPP-CLASS

match

match

ACCesSs -group

ACCRSSs -~ group

TU AT

kT

CoPP
CoPPp

CoPpP

[CMEP
BGE
EIGRP

malch AacCass-group namda

Refer to the exhibit A CoPP policy is implemented to allow specific control traffic, but the traffic is not matching as expected and is getting unexpected behavior of

control traffic. Which action resolves the issue?

A. Use match-any instruction in class-map

B. Create a separate class map against each ACL.
C. Create a separate class map lor ICMP traffic.

D. Use default-class to match ICMP traffic

Answer: A

NEW QUESTION 59
- (Exam Topic 3)
Refer to the exhibit.
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ip prefix-list 1 permit 172.16.0.0/16
Ip prefix-list 2 permit 192.168.2.0/24
|

route-map RED permit 10

match ip address prefix-list 1

set ip next hop 10.1.1.1

continue 20

exit

|

route-map RED permit 20

match ip address prefix-list 2

set ip next hop 10.2.2 2

end

The forwarding entries how that the next hop for prefixes from the 172.16.0.0/16 network is set to 10.2.2.2 instead of 10.1.1.1. Which action resolves the issue?

A. Add set ip next hop 10.1.1.1 in route-map RED permit 20.

B. Add the continue statement in route-map RED permit 10 instead of continue 20.
C. Remove match ip address prefix-list 1 from route-map RED permit 10.

D. Remove the continue 20 statement from route-map RED permit 10

Answer: D

NEW QUESTION 63
- (Exam Topic 3)

"Sep 323 1821 264 EIGRP. Neighbor (10 1 2 192) not yet found

*Sep 3 231918 675 Going down' Peer 10 1.2 1 1otal=2 stub 0, ndb-stub=0 id-all=0

*Sep 3 231918 6/5 EIGRP Handle deallocabon fadure (1)

*Sep 3231818 675 EIGRP Nesghbor 10 1 2.1 went down on Tunnel?

*Sep 3231922 941 EIGRP: New peer 1012 1

*Sep 3 231822 943 %DUAL-5-NBRCHANGE EIGRP.1Pv4 3111 Neighbor 10 1.2 1 (Tunnel1) 1s up new adjacency

Refer to the exhibit. Which configuration command establishes an EIGRP neighbor adjacency between the hub and spoke?

A. connected 10.1.2.192 command on spoke router
B. network 10.1.2.192 command on spoke router

C. eigrp-peer 10.1.2.192 command on the hub router
D. neighbor 10.1.2.192 command on hub router

Answer: D

NEW QUESTION 64
- (Exam Topic 3)

10.0.0.2/30 10.0.0.1/30
EO/1 cort/ MM
51 R3
S1#iping 10.0.0.1 R3N
Type escape scquence to abort, hostname R3

Sending 5, 100-byte ICMP Echos to 10.0.0.1, timeout is 2 seconds: 1

enable password cisco
Success rate is 100 percent {5)5), round-trip minfave/max = 1/1/L ms|

no aaa new-model
1

Slfiteinet 10.0.0.1 username admin password 0 cisco
Trying 10.0.0.1 ... Open i

interface Ethernet0/1
ip address 10.0.0.1 255.255.255.252

[Connection to 10.0.0.1 closed by foreign host]

line con 0

logging synchronous
line aux Q

line vty 0 4

password cisco
login

no exXec

transport input all
i

end

Refer to the exhibit. A network engineer cannot remote access R3 using Telnet from switch S1. Which action resolves the issue?
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A. Allow the inbound connection via the exec command on R3.

B. Add the transport input telnet command on R3.

C. Allow to use the ssh -l admin 10.0.0.1 command on the switch.
D. Add the login admin command on the switch.

Answer: A

NEW QUESTION 66
- (Exam Topic 3)
Refer to the exhibit.

— |
Red . —
$05ep 19 00:53:43.008: BOMNST state: 10
utuit _actiw

\ 53243, 006: ncr 1038708, 3 went from Established to Idle

ﬁﬂi‘ﬁ 9. 00:53:43.006: ABGP-S-ADICHANCE: ned

ghbor 10.10.10.3 pown v "
8ap 19 00:53:43. 006 ncr 10.10.10.3 closing Gk
SSep 1% 00:53:43.106: BGP Routar.

10,103 went from nsf not aotiwd te

unhandled major event ooda 128, minor 0

RDfshow ip Bgp peighbors 10.10.10 9

}m maighbor is-10.30.10.2, remote AS 65101 aiternal link

BGP wersion 4, remote router ID 0.0 ©

BCP ql.itn = Aetive

St tead 00:01:35, last writs 00:01:35

Intarval is €0 seconds

Defanit minisem time between advertisement runs is 30 seconds

Adress tracking is emabled, the RIB does have a route to 10.10.10.2

Connactions astabhlished 11 dropped 11

Last reset 00:01:36, duoe to Peer closed the

Extarnal BCP nelghbor may be uwp to ) home .way

fransport (top) path-mtu-disocovery anabled
Yo Qljt.'l‘ﬂ TCP commectloo

R r

, bold time is {H0, koepalive

ses=lion

A NOC team receives a ticket that data traffic from RA to RF is not forwarded when the link between the RC-RE path goes down. All routers learn loopback IP
through the IGP protocol. Which configuration resolves?

A. RD(config)#router bgp B5201RD(config-router)# neighbor 10.10.10.2 update-source loopback 0
B. RD(config-router)# neighbor bgp 65101RB(config-router)# neighbor 10.10.10.3 ebgp-multihop 3
C. RB(config)# router bgp 65101RB(config)#neighbor 10.10.10.3 update-source loopback 0

D. RD(config)# router bgp 65201RDI(config-router)# neighbor 10.10.10.2 ebgp-multihop 3

Answer: B

NEW QUESTION 67

- (Exam Topic 3)

An engineer received a ticket about a router that has reloaded. The monitoring system graphs show different traffic patterns between logical and physical
interfaces when the router is rebooted. Which action resolves the issue?

A. Configure the snmp ifindex persist command globally.

B. Clear the logical interfaces with snmp ifindex clear command

C. Configure the snmp ifindex persist command on the physical interfaces.

D. Trigger a new snmpwalk from the monitoring system to synchronize interface OIDs

Answer: A

NEW QUESTION 68

- (Exam Topic 3)

An engineer notices that R1 does not hold enough log messages to Identity the root cause during troubleshooting Which command resolves this issue?
A. #logging buffered 4096 critical

B. (config)#logging buffered 16000 informational

C. #logging buffered 16000 critical

D. (config)#logging buffered 4096 informational

Answer: B

NEW QUESTION 70
- (Exam Topic 3)
Which rouler takes an active role between two LDP neighbors when initiating LDP session negotiation and LDP TCP connection establishment?

A. with the higher IP address
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B. with the larger number of LDP TCP neighbors
C. with the lowest IP address
D. with one interface in the MPLS backbone

Answer: A

NEW QUESTION 74
- (Exam Topic 3)
Which two technologies optimize MPLS infrastructure using bandwidth protection services when experiencing slow response7 (Choose two.)

A. IPLFA

B. MPLS OAM
C. VPLS

D. SO-MPLS
E. Fast-Rwoute

Answer: AE

NEW QUESTION 78
- (Exam Topic 3)
How does an MPLS Layer 3 VPN differentiate the IP address space used between each VPN?

A. by RD

B. by address family
C. by MP-BGP

D. byRT

Answer: A

NEW QUESTION 81
- (Exam Topic 3)
What are two characteristics of a VRF instance? (Choose two)

A. It is defined by the VPN membership of a customer site attached to a P device.
B. Each VRF has a different set of routing and CEF tables.

C. All VRFS share customers routing and CEF tables.

D. An interface must be associated to one VRF

E. A customer site can be associated to different VRFs.

Answer: BD

NEW QUESTION 82
- (Exam Topic 3)
Which two solutions are used to overcome a flapping link that causes a frequent label binding exchange between MPLS routers? (Choose two)

A. Create link dampening on links to protect the session.
B. Increase input queue on links to protect the session.
C. Create targeted hellos to protect the session.

D. Increase a hold-timer to protect the session.

E. Increase a session delay to protect the session.

Answer: AC

Explanation:

To avoid having to rebuild the LDP session altogether, you can protect it. When the LDP session between two directly connected LSRs is protected, a targeted
LDP session is built between the two LSRs. When the directly connected link does go down between the two LSRs, the targeted LDP session is kept up as long as
an alternative path exists between the two LSRs.

For the protection to work, you need to enable it on both the LSRs. If this is not possible, you can enable it on one LSR, and the other LSR can accept the targeted
LDP Hellos by configuring the command mpls Idp discovery targeted-hello accept.

Reference: https://www.ccexpert.us/mpls-network/mpls-ldp-session-protection.html Or from the reference

at https://www.ciscolive.com/c/dam/r/ciscolive/us/docs/2019/pdf/5e U6DfQV/TECMPL-3201.pdf

Troubleshooting LDP Issues

Problem:

I. When a link flaps (for a short time),

... Solution:

+ When LDP session supported by link hello is setup, create a targeted hello to protect the session.

NEW QUESTION 85
- (Exam Topic 3)
Which method provides failure detection in BFD?

A. short duration, high overhead
B. short duration, low overhead
C. long duration, high overhead
D. long duration, low overhead

Answer: B
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NEW QUESTION 88
- (Exam Topic 3)

Drag and drop the IPv6 first hop security device roles from the left onto the corresponding descriptions on the right.

Receives router advertisements from valid

host e g :
routers, and no router solicitation are received.
Receives router solicitation and sends router

router .
advertisements,

: Receives valid and rogue router

monitor _ —
advertisements and all router solicitation.

- Received router advertisements are trusted
and are flooded to synchronize states.

A. Mastered

B. Not Mastered
Answer: A

Explanation:

Graphical user interface, text, application, email Description automatically generated

Reference:
https://www.cisco.com/c/en/us/td/docs/switches/datacenter/nexus9000/sw/7-x/security/configuration/guide/b_Ci

NEW QUESTION 93
- (Exam Topic 3)
Refer to the exhibit.
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Refer to the exhibit R1 cannot authenticate via TACACS Which configuration resolves the issue?

aaa group server tacacs+ DC_TACACS
server name DC_TACACS

tacacs server DC1_TACACS
address ipv4 10.66.66.66
key D@t@cInter1 TACACS

aaa group server tacacs+ DC1_TACACS
server name DC_TACACS

tacacs server DC1_TACACS
address ipv4 10.60.66.66
key D@Et@cInter1 TACACS

A. Option A
B. Option B
C. Option C
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D. Option D
Answer: B
NEW QUESTION 94

- (Exam Topic 3)
Refer to the exhibit.
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A network administrator must configure DMVPN tunnels between the hub and spoke with dynamic spoke-to-spoke tunnel capabilities using EIGRP. Which tunnel
interface command must the network administrator configure to establish an EIGRP peer?

A. no ip next-hop-self eigrp 1
B. ip next-hop-self eigrp 1

C. no Ip nhrp ntxt-hop-self
D. ip nhrp next-hop-self

Answer: C
NEW QUESTION 98
- (Exam Topic 3)

A. Redistribute the static metric

B. Add the eigrp stub connected static command.
C. Redistribute the connected metric in EIGRP.
D. Remove the eigrp stub connected command.

Answer: B

NEW QUESTION 101
- (Exam Topic 3)

in EIGRP.

OSPF AREA D

- L £
“ M 10 99 69 00 OO
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Rl#show route-map
route-map FROM->EIGRP, permit, seagquence 10
Match clauses:
ip address (access-lists): 10
Sat clansas:
Policy roubting matches: 0 packets, 0 bybtes
Ri#show run | sec router
router elgrp 100
network 10.96.6%9.0 0.0.0.3
o auto-summary
elgrp router-id 1.1.1.1
router aspf 100
router-id 1.1.1.1
log-adjacency -changes
redistribute sigrp 100 subnets route-map FROM->EIGRP
network 10.9%.6%.0 0.0.0.3 area 0
Rl#show ip access-list
Standard IP acoess list 10
10 parmit 192.168.16.0, wildcard bits 0.0.3.255%

11 permit 15%2.168.0.0, wildcard bits 0.0.7.255

20 deny any

Refer to the exhibit The engineer configured route redistribution in the network but soon received reports that R2 cannot access 192 168 7 0/24 and 192 168 15

0/24 subnets Which configuration resolves the issue?

Rl {contfigq)fip acoess-list standard 10

Bl {config-std-nacl)fne 10 permit

El {config-std-nacl)fne 11 permit

El {config-std-nacl}#10 permit 15%2.168.0.0 0.0.3.
Bl {config-std-nacl)#1l permit 192,.1668.68.0 0.0.3.

2h%
255

Rl (config)#ip access-list standarcd 10
Rl (config-std-nacl) fnae 10 paermit
El (config-std-nacl)#no 11 permit

Kl {config-std-nacl) #10 permit 192.168.0.0 0.0.7.
Bl (config-std-nacl) #11 permit 19%2.168.8.0 0.0.3,

=]
o
%

Pt
in
Ln

Bl {contiqgq)flp access-1ist standard 10

Bl {config-std-nacl)fne 10 permit

Bl {config-std-nacl)fne 11 permit

Bl {config-std-nacl}#10 permit 15%2,.168.0.0 0.0.3.

Rl{config-std-nacl)#ll permit 192 . 168.8.0 0.0.7.:

Rl joconlig) fip access-list standard 10

Rl (config-std-nacl)#no 10 permit

El (config-std-nacl) #éno 11 permit

Bl (config-std-nacl) #10 permit 1%2.168.4.0 0.0.3.

255

Rl jconfig-std-nacl) #11 permit 192.168.12.0 0.0.3.255

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 102
- (Exam Topic 3)

Refer to the exhibit. The ISP router is fully configured for customer A and customer B using the VRF-Lite feature. What is the minimum configuration required for

customer A to communicate between routers A1 and A2?
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A. Alinterface fa0/0 description To->ISPip add 172.31.100.1 255.255.255.0no shutlrouter ospf 100net 172.31.100.1 0.0.0.255 area 0 A2interface fa0/0 description
To->ISPip add 172.31.200.1 255.255.255.0n0o shut!router ospf 100net 172.31.200.1 0.0.0.255 area 0

B. Alinterface fa0/0 description To->ISP ip vrf forwarding Aip add 172.31.100.1 255.255.255.0no shut!router ospf 100net 172.31.100.1 0.0.0.255 area 0
AZinterface fa0/0 description To->ISP ip vrf forwarding Aip add 172.31.200.1 255.255.255.0no shut!router ospf 100net 172.31.200.1 0.0.0.255 area 0

C. Alinterface fa0/0 description To->ISPip add 172.31.200.1 255.255.255.0n0 shut!router ospf 100net 172.31.200.1 0.0.0.255 area 0 A2interface fa0/0 description
To->ISPip add 172.31.100.1 255.255.255.0no shut!router ospf 100net 172.31.100.1 0.0.0.255 area 0

D. Alinterface fa0/0 description To->ISP ip vrf forwarding Aip add 172.31.100.1 255.255.255.0no shut!router ospf 100 vrf Anet 172.31.200.1 0.0.0.255 area 0
A2interface fa0/0 description To->ISP ip vrf forwarding Aip add 172.31.100.1 255.255.255.0no shut!router ospf 100 vrf Anet 172.31.200.1 0.0.0.255 area O

Answer: C

Explanation:

Al and A2 routers do not know they belong to VRF A. The two

interfaces of ISP (which are connected to A1 & A2) should be configured like this (we only show the configure of one interface):
ISP router:

interface g0/0

description ISP->To_CustomerA ip vrf forwarding A

ip address 172.31.100.2 255.255.255.0

router ospf 100 vrf A

network 172.31.200.2 0.0.0.255 area O

NEW QUESTION 103
- (Exam Topic 3)

Area 1 OSPF Area 0
Cost40 R1 RS
>ost >
':i Qs s Y Cost 10 ::
R4 o R
Cost 40 10.10.10.0/24  1Cost 40 Cost 10
R3 /WX Costdd N Cost10 |/ w /X
i AN o’
10.10.20.0/24

Refer to the exhibit Which action ensures that 10 10 10 0/24 reaches 10 10 20 0/24 through the direct link between R1 and R2?

A. Configure R1 and R2 LAN links as nonpassive.

B. Configure R1 and R2 links under area 1

C. Configure OSPF link cost to 1 between R1 and R2
D. Configure OSPF path cost to 3 between R1 and R2

Answer: B

NEW QUESTION 106

- (Exam Topic 3)

Users report issues with reachability between areas as soon as an engineer configured summary routes between areas in a multiple area OSPF autonomous
system. Which action resolves the issue?

A. Configure the summary-address command on the ASBR.
B. Configure the summary-address command on the ABR.
C. Configure the area range command on the ABR.

D. Configure the area range command on the ASBR.
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Answer: C

Explanation:

For OSPF, we can only summary at the ABR with the command “area range” or at the ASBR with the command “summary-address” -> Therefore answer A and

answer B are not correct.

In this question, the most likely problem is that when doing summarization, the network mask is configured wrong and summarization doesn’t work because of the
misconfiguration. When configuring the area range command, make sure that the summarization mask is in the form of a prefix mask rather than a wildcard mask

(that is, 255.255.255.0 instead of 0.0.0.255).

Good reference: https://www.configrouter.com/troubleshooting-route-summarization-ospf-14082/

NEW QUESTION 110
- (Exam Topic 3)
Refer to the exhibit.

192.168.5.50/24

App Server
10.30.2.100/24

A network administrator must block ping from user 3 to the App Server only. An inbound standard access list is applied to R1 interface GO/O to block ping. The
network administrator was notified that user 3 cannot even ping user 9 anymore. Where must the access list be applied in the outgoing direction to resolve the

issue?

A. R2 interface G1/0
B. R2 interface G0/0
C. SW1 interface G1/10
D. SW1 interface G2/21

Answer: D
NEW QUESTION 115

- (Exam Topic 3)
Refer to the exhibit.

access-list 1 permit 209.165.200.215
access-list 2 permit 209.165.200.216
]

interface ethernet 1

ip policy route-map Texas

]

route-map Texas permit 10

match ip address 1

set 1p precedence priority

set 1p next-hop 209.165.200.217

!

route-map Texas permit 20

match ip address 2

set 1p next-hop 209.165.200.218

Packets arriving from source 209.165.200.215 must be sent with the precedence bit set to 1, and packets arriving from source 209.165.200.216 must be sent with

the precedence bit set to 5. Which action resolves the issue?
A. set ip precedence critical in route-map Texas permit 10

B. set ip precedence critical in route-map Texas permit 20

C. set ip precedence immediate in route-map Texas permit 10
D. set ip precedence priority in route-map Texas permit 20
Answer: B

NEW QUESTION 120
- (Exam Topic 3)
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Refer to the exhibit.

! 10.0.0.2/24

FTP Server

Lisernarme: Cisco
Pashword %o

File to downlpad: [0S bin |
ChUsers\FTPServer »ping 1000001

Pinging 100001 wath 32 bhvies of data

Rieply from 1000017 bytes= 32 time s Ems TTL=64
Reply tromm 1000000 byles= 32 timae= Tms TIL =64
Rivply Trom 100001 Iyless 32 ime=1Tms TTL =64

Reply from 100001 byles=32 time=1ms TTL=564

Ping statistics for 10.000.1

Packets: Sent = 4 RBecehved = 4, Lost = D (0% loss),

Approximate round trip times i mdlli-seconds

Minimum = Trms, Maximum = 1Tms, Average = 1ms

EO/1
VLAMNZ

Swatch

Swilohe

i

Interface VLAMS

ip address 10.0.0.1 255.255.255.0

ip fip source-inferface vian 2

Swatch&copy hip/foscoasco@10.0.0. 2105 in flash:/
Destination filename (105 bin)?
Accessing Mpdfoscociscoi®10.0.0. 205 bin

Wbrror opering lpyfoscooscoi@10.0.0. 27105 in (No such hle or directory)

An engineer cannot copy the 10S.bin file from the FTP server to the switch.

Which action resolves the issue?

A. Allow file permissions to download the file from the FTP server.

B. Add the 10S.bin file, which does not exist on FTP server.

C. Make memory space on the switch flash or USB drive to download the file.

D. Use the copy flash:/ ftp://cisco@10.0.0.2/10S.bin command.
Answer: B
NEW QUESTION 123

- (Exam Topic 3)
Refer to the exhibit.
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An engineer configured IP SLA on R1 to avoid the ISP link flapping problem. but it is not working as designed IP SLA should wait 30 seconds before switching
traffic to a secondary connection and then revert to the primary link after waning 20 seconds, when the primary link is available and stabilized. Which configuration

resolves the issue?

A. R1(config)#ip sla 700R1(config-ip-sla)#delay down 30 up 20
B. R1(config)#ip sla 700R1(config-ip-sla)#delay down 20 up 30

C. R1(config)#track 700 ip sla 700R1(config-track)#delay down 30 up 20
D. R1(config)#track 700 ip sla 700R1(config-track)#delay down 20 up 30

Answer: C

Explanation:

“wait 30 seconds before switching traffic to a secondary connection” -> delay down 30 “then revert to the primary link after waiting 20 seconds” -> up 20

Under the track object, you can specify delays so we have to configure delay under “track 700 ip sla 700" (not under “ip sla 700").
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NEW QUESTION 128
- (Exam Topic 3)
What must a network architect consider for RTs when planning for a single customer full-mesh VPN m an MPLS Layer 3 network?

A. RT must be globally unique within the same VPN

B. RT must be globally identical within the same VPN

C. RT values must be Afferent from the RD values in the same VPN

D. Each RT value must be identical to an RD value within the same VPN.

Answer: D

NEW QUESTION 130
- (Exam Topic 3)

Acme com Group

RTG- l{configi#ip vrf CompanyA

RTG. 1jconfig-vrf)® interface GigabitEthernet 00
RTG-liconfigif# ip vrl forwarding CompanyA
RTG-1jconfigJf}@ ip address 172 16.2.2 258 255 2650

Refer to the exhibit. An engineer must configure a per VRF for TACACS+ for company A. Which configuration on RTG-1 accomplishes the task?

aaa new-model

aaa group server tacacs+ Tacacscluster
server-private 172.16.1.1 port 49 key routing
ip tacacs source-interface GigabitEthernet 0/0
ip vrf forwarding CompanyA

aaa new-model

aaa group server tacacs+ Tacacscluster
server-private 172.16.1.3 port 49 key routing
ip tacacs source-interface GigabitEthernet 0/1
ip vrf forwarding CompanyA

aaa new-model

aaa group server tacacs+ Tacacscluster
server-private 172.16.1.1 port 49 key routing
ip tacacs source-interface GigabitEthernet 0/1
ip vif CompanyA

aaa new-model

aaa group server tacacs+ Tacacscluster
server-private 172.16.1.3 port 49 key routing
ip tacacs source-interface GigabitEthernet 0/0
ip vrf CompanyA

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 135
- (Exam Topic 3)
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RBfshow ip bgp 172.16.16.1
BGP routing table entry for 172.16.16.1/32, wversion 11
Faths: (1 available, no beat path)
Hot advertised to any pear
Local
10.10.10.5 (metric 3) from 10.10.10.5 (172.16.16.1)

Origin IGP, metric 0, localpref 100, walid, internal, not synchronized

RD#traceroute 172.16.16.1

Tracing the route to 172.16.16.1
110.0.0.10 [MPLS: Labal 29 Exp 0] 64 masc 56 masc 60 masc
2 10.0.0.21 60 msec 56 masec T2 msac

& 10.10.10.4
.

"

lo
1010103 045,

L
10.10.10.5 10.10.10.6

A7 18
10.0.0.16/30

=3 4 -
172.16.16.1 4 = BGP Peers
s o T

10.10.10.3

e Y e ]

10.10.10.6

17 18 3
ik
10.0.0.16/30
=1 - >
-+ > -+
BGP 65101 BGP 65201

Refer to the exhibit A customer reported an issue with a fiber link failure between RC and RE Users connected through the spoke location face disconnection and
packet drops with the primary email server (172.16.16.1) but have no issues with the backup email server (172.16.26.1). All the router loopback IPs are advertised

through the OSPF protocol. Which configuration resolves the issue?

RB(conlig)#router bgp 65101
RB(config-router #no synchronization

RC(config)#router bgp 65101
RC(config-router j#neighbor 10.10.10.2 next-hop-self

RB(config#router bgp 65101
RB(config-router @nelghbor 10.10.10.5 next-hop-sealf

RC({config#router bgp 65101
RC(config-router}#no synchronization

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 137
- (Exam Topic 3)
Refer to the exhibit.
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RZ2H show ip ospf neilghbor

Naeighbor 1D Pri Stata Dead Tima Addross Interfaca
192.168.99.2 1 EXCHANGE/ 00:00:36 192.168.99.1 Serial0/]
router-6#

R3# show ip ospf neighbor

Neighbor ID Pri State Dead Time Address Interface
192 .168.99.1 1 EXSTART/ - 00:00:33 192.168.99.2 Seriald/1
192.168.99.1/30 192.168.99.2/30
i S0/1 _ "
‘i ‘:F__E'________::_. = SU“@

G0/0
10.1.11.1/30

10.1.11.2/30
| G0/0

l&l‘_fé_pl

An OSPF neighbor relationship between R2 and R3 is showing stuck in EXCHANGE/EXSTART state. The neighbor is established between R1 and R2. The
network engineer can ping from R2 to R3 and vice versa, but the neighbor is still down. Which action resolves the issue?

A. Restore the Layer 2/Layer 3 conectivity issue in the ISP network.
B. Match MTU on both router interfaces or ignore MTU.

C. Administrative "shut then no shut" both router interfaces.

D. Enable OSPF on the interface, which is required.

Answer: B

Explanation:

After two OSPF neighboring routers establish bi-directional communication and complete DR/BDR election (on multi-access networks), the routers transition to the
exstart state. In this state, the neighboring routers establish a master/slave relationship and determine the initial database descriptor (DBD) sequence number to
use while exchanging DBD packets.

Neighbors Stuck in Exstart/Exchange State

The problem occurs most frequently when attempting to run OSPF between a Cisco router and another vendor’s router. The problem occurs when the maximum
transmission unit (MTU) settings for neighboring router interfaces don’t match. If the router with the higher MTU sends a packet larger that

the MTU set on the neighboring router, the neighboring router ignores the packet.

NEW QUESTION 139
- (Exam Topic 3)
Refer to the exhibit.

AS 1000
(.10) / ™\ (.10)
"4y

Internet Cloud

192.158.101.? {2.15&‘102.0&4

AS100 (1) ~ N\ (-2) AS 200
wu A
ISP-1 ;: }i 1892
(0N /(2
192.168.111.0/24 192.168.112.0/24
AS 65500

EO00N ' x / EOM
(111) R/ ()

Customer Edge

The Customer Edge router (AS 65500) wants to use ASC100 as the preferred ISP for all external routes.
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Customer Edge
route-map SETLP

set localspreference 111
|

router bgp 65500

neighbar 192.168.111.1 remote-as 100
neighbor 192.168.111.1 route-map SETLP out
neighbor 192,168,112, 2 remote-as 200

This configuration failed to send routes to AS 100 as the preferred path. Which set of configuration resolves the issue?

route-map SETLP
set local-preference 111
|

router bgp 65500
neighbeor 182.168.111.1 remote-as 100
rneighbor 192.168.111.1 route-map SETLP out

route-map SETLP
sat local-preference 111
!

router bgp 66500
reighbor 1892.168.111.1 remote-as 100
neighbor 192.168.111.1 route-map SETLP in

route-map SETFP
set as-path prepend 111 111
!

router bgp 65500
neighbor 192.168.111.1 remote-as 100
neighbor 182.168.111.1 route-map SETPP ouwt

redte-map SETPP

set as-path prepend 100 100

!

router bgp 65500

naighbor 192.168.111.1 remote-as 100
neighbor 192,168.111.1 route-map SETPP in

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 144
- (Exam Topic 3)

An engineer configured VRF-Lite on a router for VRF blue and VRF red. OSPF must be enabled on each VRF to peer to a directly connected router in each VRF.

Which configuration forms OSPF neighbors over the network 10.10.10.0/28 for VRF blue and 192.168.0.0/30 for VRF red?

router ospf 1 vrf blue

network 10.10.10.0 0.0.0.15 area 0
router ospf 2 vrf red

network 192.168.0.0 0.0.0.3 area 0

router ospf 1 vif blue

network 10.10.10.0 0.0.0.240 area 0
router ospf 2 vrf red

network 192.168.0.0 0.0.0.252 area 0

router ospf 1 vrf blue

network 10.10.10.0 0.0.0.252 area 0
router ospf 2 vrf red

network 192.168.0.0 0.0.0.240 area 0

router ospf 1 vif blue

network 10.10.10.0 0.0.0.3 area 0
router ospf 2 vrf red

network 192.168.0.0 0.0.0.15 area 0

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 146
- (Exam Topic 3)
Refer to the exhibit.
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10.1.1.0/24
10.1.2.0/24

(1)
u A
o
ASBR3
ASBR1 e0/0| (-2)
- A
o
ASBR2

RR Configuration:

router bgp 100

neighbor IBGP peer-group

neighbor IBGP route-reflector-client
neighbor 10.1.1.1 remote-as 100
neighbor 10.1.2.2 remote-as 100
neighbor 10.1.3.3 remote-as 100

The network administrator configured the network to establish connectivity between all devices and notices that the ASBRs do not have routes for each other.

Which set of configurations resolves this issue?

* router bgp 100
neighbor 10.1.1.1 next-hop-self
neighbor 10.1.2.2 next-hop-self
neighbor 10.1.3.3 next-hop-self

router bgp 100
neighbor IBGP update-source Loopback0

router bgp 100
neighbor IBGP next-hop-self

router bgp 100

naighbor 10.1.1.1 peer-group IBGP
neighbor 10.1.2.2 peer-group IBGP
neighbor 10.1.3.3 peer-group IBGP

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 148
- (Exam Topic 3)
Refer to the exhibit.
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ipve dhep server:

ipvb unicast-routing

i

int e0/1

ipw6 enable

ipve add 2001:11::1/64
ipve nd other-config-flag
no shut

ipwb dhcp server IPv6Pool
!

ipv6 dhcp pool IPvGPool
dns-server 2002:555:11

domain-name my.net
ipv6 dhcp client:

interface Ethernet0/1
no ip address
ipv6 address dhcp

ipv6 enable

no shut
ipv6 dhep client ipv6 dhcp server
| R1 R2 |

A network administrator is troubleshooting IPv6 address assignment for a DHCP client that is not getting an IPv6 address from the server.

Which configuration retrieves the client IPv6 address from the DHCP server?

A. ipv6 address autoconfig command on the interface

B. ipv6 dhcp server automatic command on DHCP server
C. ipv6 dhcp relay-agent command on the interface

D. service dhcp command on DHCP server

Answer: A

NEW QUESTION 149
- (Exam Topic 3)
What is a function of the IPv6 DHCP Guard feature for DHCP messages?

A. Only access lists are supported for matching traffic.

B. All client messages are always switched regardless of the device role.
C. It blocks only DHCP request messages.

D. If the device is configured as a DHCP server, no message is switched.

Answer: B

NEW QUESTION 152
- (Exam Topic 3)

The network administrator configured R1 for Control Plane Policing so that the inbound Telnet traffic is policed to 100 kbps. This policy must not apply to traffic

coming in from 10.1.1.1/32 and 172.16.1.1/32. The administrator has configured this:
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access-list 101 permit tcp host 10.1.1.1 any eq 23
access-list 101 permit tcp host 172.16.1.1 any eq 23
class-map CoPP-TELNET

match access-group 101

!

policy-map PM-CoPP

class CoPP-TELNET

police 100000 conform transmit exceed drop

!

control-plane

service-policy input PM-CoPP

The network administrator is not getting the desired results. Which set of configurations resolves this issue?

A. control-planeno service-policy input PM-CoPPlinterface Ethernet 0/0service-policy input PM-CoPP

B. control-planeno service-policy input PM-CoPPservice-policy input PM-CoPP

C. no access-list 101access-list 101 deny tcp host 10,1,1.1 any eq 23access-list 101 deny tcp host 172,16.1.1 any eq 23 access-list 101 permit ip any any
D. no access-list 101access-list 101 deny tcp host 10,1.1.1 any eq 23access-list 101 deny tcp host 172.16.1.1 any eq 23 access-list 101 permit ip any
anylinterface EO/Oservice-policy input PM-CoPP

Answer: C
Explanation:

Packets that match a deny rule are excluded from that class and cascade to the next class (if one exists) for classification. Therefore if we don’t want to CoPP
traffic from 10.1.1.1/32 and 172.16.1.1/32, we must “deny” them in the ACL.

NEW QUESTION 156
- (Exam Topic 3)
Refer to the exhibit.

AT |
2001:088: 164 e 2001:088:+1/64 2001:DB8::2/64 e 2001:DB9: /64 l‘
SW2

SWi R1 R2

An engineer must advertise routes into IPv6 MP-BGP and failed. Which configuration resolves the issue on R1?

A. router bgp 65000n0 bgp default ipv4-unicast address-family ipvé multicast network 2001:DB8::/64

B. router bgp 65000n0 bgp default ipv4-unicast address-family ipv6 unicast network 2001:DB8::/64

C. router bgp 64900n0 bgp default ipv4-unicast address-family ipv6 unicast network 2001:DB8::/64

D. router bgp 64900n0 bgp default ipv4-unicast address-family ipv6 multicastneighbor 2001:DB8:7000::2 translate-update ipv6 multicast

Answer: B

NEW QUESTION 157

- (Exam Topic 3)

The network administrator is tasked to configure R1 to authenticate telnet connections based on Cisco ISE using RADIUS. ISE has been configured with an IP
address of 192.168.1.5 and with a network device pointing towards R1 (192.168.1.1) with a shared secret password of Cisco123. If ISE is down, the administrator
should be able to connect using the local database with a username and password combination of admin/cisco123.

The administrator has configured the following on R1:

aaa new-model
!

username admin password cisco123
1

;'adiu's server ISE1
address ipv4 192.168.1.5
key Cisco123

I

;aﬂa group server tacacs+ RAD-SERV

server name ISE1
1

élaa authentication login RAD-LOCAL group RAD-SERV

ISE has gone down. The Network Administrator is not able to Telnet to R1 when ISE went down. Which two configuration changes will fix the issue? (Choose two.)
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linevty 0 4
login authentication RAD-LOCAL

line vty 0 4
login authentication default

linevty 0 4
login authentication RAD-SERV

aaa authentication login RAD-SERV group RAD-LOCAL local

aaa authentication login RAD-LOCAL group RAD-SERYV local

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: CE
NEW QUESTION 158

- (Exam Topic 3)
Refer to t_he ex_hibit.

] 'lll. m’ J=|-||';-
R ] 023
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I N :.'ll;- “ .'.""l'l'l

R1 is configured with IP SLA to check the availability of the server behind R6 but it kept failing. Which configuration resolves the issue?

A. R6(config)# ip sla responder

B. R6(config)# ip sla responder udp-echo ip address 10.10.10.1 port 5000

C. R6(config)# ip access-list extended DDOSR6(config ext-nac)# 5 permit icmp host 10.66 66.66 host 10.10.10.1
D. R6(config)# ip access-list extended DDOSR6(confg ext-nac)# 5 permit icmp host 10.10.10.1 host 10.66.66.66

Answer: D

Explanation:
In this IP SLA tracking, we don’t need a IP SLA Responder so the command “ip sla responder” on R6 is not necessary.

We also notice that the ACL is blocking ICMP packets on both interfaces E0/0 & EO/1 of R6 so we need to allow ICMP from source 10.10.10.1 to destination
10.66.66.66.

NEW QUESTION 161
- (Exam Topic 3)
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18.1.1.8/24

1T Router

vef definition Science

address-family ipvd

Interface E 0/2
Vrf forwarding Science
Ip address 192.168.1.1 255.255.255.0

Ho shut

i
Interface E 0/3

Vrf forwarding Science

]

Interface E 0/3

Vrf forwarding Science

Ip address 192 _168.2.1 255.255.255.0

No shut

Refer to the exhibit. The IT router has been configured with the Science VRF and the interfaces have been assigned to the VRF. Which set of configurations

advertises Science-1 and Science-2 routes using EIGRPAS 111?

routar aigrp 111
address-family ipvd ¥rf Science autonomous-sysatem 1
network 192.168.1.0
naetwork 192.168.2.0

router eigrp 111

address-family ipvd vif Science
network 192.168.1.0

network 192, 168.2.0

router eigrp 111
network 182.168.1.0
natwork 192, 168.2.0

router eigrp 1

address-family ipvd vrf Science autonomous-system 111
natwork 192.168.1.0

network 192.168.2.0

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 163
- (Exam Topic 3)
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Rlésh run | section eigep
router eigrp 10

narwark 10.10.10.0 0.0.0.255

no AUTo=-SUmmary

neighbor 10.10.10.2 FastEthernet(/s0
!‘.:'."i-’._[:“:i‘_"n"?'t 10.10.10. 3 FastEthernetcl/u

>

Blfshew ip eigrp neighbors

IF-EIGRF neighbors for process 10

H Address Interface Hold Uptime SETT ETO 2
Seq

[5ec) ims) ~nt

I3

- = =

Fal /s 10 00:01:01 42 232 0
Fal/( 10 00:01:03 42 244 0 @

[
v
[
st

Refer to the exhibit The remote branch locations have a static neighbor relationship configured to R1 only R1 has successful neighbor relationships with the
remote locations of R2 and R3, but the end users cannot communicate with each other. Which configuration resolves the issue’

H2

interface FastEthernetQ/0.10

encapsulation dot1Q
ip address 10.10.10.2 255.255.255.0

R3
interface FastEthernet0/0.10

encapsulation dot1Q
ip address 10.10.10.3 256.255.255.0

RZ

interface FastEthernet0/0.10
encapsulation dot1Q

ip address 10.10.10.2 255.265.255.0

R3

interface FastEthernet0/0.10
encapsulation dot1Q

ip address 10.10.10.3 255.255.255.0

R2

interface FastEthernet0/0.10
encapsulation dot1Q 10

ip address 10.10.10.2 255.256.255.0

R3

interface FastEthernet0/0.10
encapsulation dot1Q 10

ip address 10.10.10.3 266.266.265.0

R2 and R3
interface FastEthernetd/0
no ip split-horizon igrp 10

R1
interface FastEthernetD/0
no ip split-horizon eigrp 10

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: E

NEW QUESTION 168

- (Exam Topic 3)

A network administrator is troubleshooting a failed AAA login issue on a Cisco Catalyst c3560 switch. When the network administrator tries to log in with SSH using
TACACS+ username and password credentials, the switch is no longer authenticating and is failing back to the local account. Which action resolves this issue?

A. Configure ip tacacs source-interface GigabitEthernet 1/1

B. Configure ip tacacs source-ip 192.168.100.55

C. Configure ip tacacs-server source-ip 192.168.100.55

D. Configure ip tacacs-server source-interface GigabitEthernet 1/1

Answer: A

NEW QUESTION 173
- (Exam Topic 3)
Refer to the exhibit.
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Business Partner

N
iy

Area 20 | 2002°ABCD /64
2004:BBAB: /64

= _—

2110:2:4:0:11::128

- i |

20048800 /64 | Area § | Area 10 | 2004 BBAC: /64
2009:2:4:0:33::1128 3010:2:4:0:15::/1128
mZiah Ipvh routs |1I!|,'
L} 2002 ; ABCD fo6d [110/1)

via FastEthernot0/f1, directly conneoted
0 JO04:HBEAB: : /64 1110/711]
via FastEthernet0/0, directly connected

{3 FO0M © RIUAL fod [110/11)
via FastEthoernetl /0, directly connected
. 010:2:4:0:1% F138 [110/1)
via FERD: :CAO4: 1DF¥V:FEZ0:8, FastEthornet0/0

A network engineer applied a filter for LSA traffic on OSPFv3 interarea routes on the area 5 ABR to protect advertising the internal routes of area 5 to the business
partner network. All other areas should receive the area 5 internal routes. After the respective route filtering configuration is applied on the ABR, area 5 routes are

not visible on any of the areas. How must the filter list be applied on the ABR to resolve this issue?

A. in the “in” direction for area 5 on router R1

B. in the “out” direction for area 5 on router R1
C. in the “in” direction for area 20 on router R2
D. in the “out” direction for area 20 on router R2

Answer: D

NEW QUESTION 178

- (Exam Topic 3)

What is a function of an end device configured with DHCPv6 guard?

A. If it is configured as a server, only prefix assignments are permitted.

B. If it is configured as a relay agent, only prefix assignments are permitted.

C. Ifitis configured as a client, messages are switched regardless of the assigned role.
D. If it is configured as a client, only DHCP requests are permitted.

Answer: C

Explanation:

The DHCPv6 Guard feature blocks reply and advertisement messages that come from unauthorized DHCP servers and relay agents.
Packets are classified into one of the three DHCP type messages. All client messages are always switched regardless of device role. DHCP server messages are
only processed further if the device role is set to server. Further processing of server messages includes DHCP server advertisements (for source validation and

server preference) and DHCP server replies (for permitted prefixes).

If the device is configured as a DHCP server, all the messages need to be switched, regardless of the device role configuration.

NEW QUESTION 181
- (Exam Topic 3)
Which MPLS value is combined with the IP prefix to convert to a VPNv4 prefix?

A. 16-byte Route Distinguisher
B. 8-byte Route Target

C. 16-byte Route Target

D. 8-byte Route Distinguisher
Answer: D

NEW QUESTION 186
- (Exam Topic 3)
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Refer to the exhibit.

Bub# show ip route eigrp
Cogtput omibbted>

H] 192168, 0.0/24 |90 77312000) via 192.168.0.11, 00:00:41, Tunnall
b 192.168.2.0/24 [90/77312000) via 192.168.0.12, 00:00:4), Timnall
D 192168, 3.0/24 [90/17312000) wia 192.168.0.13, 00:00:41, Tunnall
Bubd show run | section router elqrp

router elqrp conp
]

address-family ipwd unicast autonomous-systes |
]

topology base

axit-af- topoe Logy

rakwork 1%2.168.0.1 0.0.0.0

oxd t-address-fami 1y

192.168,3.0/24

| -

192.168.1.0/24 192.168.2.0/24

Spoke routers do not learn about each other's routes in the DMVPN Phase2 network. Which action resolves the issue?

A. Remove default route from spoke routers to establish a spoke-to-spoke tunnel.
B. Configure a static route in each spoke to establish a spoke-to-spoke tunnel.

C. Rectify incorrect wildcard mask configured on the hub router network command.
D. Disable EIGRP split horizon on the TunnelO interface of the hub router.

Answer: D

NEW QUESTION 191
- (Exam Topic 3)

Rl (config) #ip access-list standard EIGRP-FILTER

Rl (config-std-nacl) #deny 10.10.10.0 0.0.0.0

Rl {config-std-nacl) #permit 0.0.0.0 0.0.0.0

Rl (config) #router eigrp 10

Rl (config-router) #distribute-list route-map EIGRP in
1

Rl (config) #froute-map EIGRP permit 10

Rl (config-route-map) é#match ip address EIGRP-FILTER

!

Rléshow ip route eigrp | include 10.10.10.
D 10.10.10.128/25

Refer to Ihe exhibit An engineer must filter EIGRP updates that are received to block all 10 10 10.0/24 prefixes The engineer tests the distribute list and finds one

associated prefix. Which action resolves the issue?

A. There is a permit in the route map that allows this prefix A deny 20 statement is required with a match condition to match a new ACL that denies all prefixes

B. There is a permit in the ACL that allows this prefix into EI6R
C. The ACL should be modified to deny 10.10.10.0 0.0.0.255.

D. There is a permit in the route map that allows this prefix A deny 20 statement is required with no match condition to block the prefix.

E. There is a permit in the ACL that allows this prefix into EIGR
F. The ACL should be modified to deny 10.10.10.0 255.255.255.0.

Answer: B

NEW QUESTION 192
- (Exam Topic 3)
Refer to the exhibit.
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e —
RY® show ip Int o7 | 4% una
Irtertacs P-Address ON7 Maethod Satus Profocol
E tharnal 1/0 20301131 YES marwsl up L
Laopbeox | 17216501 YES manual up wp
copbace? 17216100 1 YES manual up up
copbackd 172 16 1501 YES manual up Jb
RN show ip esgrp nesghbons
ENGRE-Fwi Meghbors for AS(1)
M Addiess Intertacs Hold Uptme SATT RTC Q Seg
(e (rres) Tl Mum
a 203.0.113.2 Ettfh 14 00 31,96 10418 5000 O 34

F!--:!l show i eigrp lopo all lnks

EIGRP 4P vd Topology Table fd AS{10{172 16,10 1]

I‘..'._."'.Jﬂi. B - Pagasien, A Aclive, U - Lpdate D - Croery, B+ Haply
- reply Slelis S - =8 Sialus

P 152 168 10024 1 sucosssors, FD s 409000 sévnc 34
via 203 0113 2 (H0PG00N 26256, Ethernet1 )
P 172 16 100 024 | successors FO s 128296, sema A

wa Connacied, Loopoatid

6 109 168 30 O, 1 succesadted FO o 4000, vermo J0
aa 010 1112 (40060001 28750), Eiher net 150
5 0% 193 B2 1 sucoessons. FO 5 Q80K sermw »J
via Cornne(ias Ettspirmal 1.X] . "
1 ¥ At 40 ..‘ | = - S % ..I 4 _1;.:“ - |
sia Coninected L ooplack -
. « I = FI { .5 I
' I:l- I- .-'-.l :' F‘h- JEYJLF > - Fir
| :-'_, TN o | oD DdeCh | I
| 1 Be.a I 11 TR R Eiy = 40900 e
(= N f 1 %ai I o
. "B .I " | . ‘ '.”.l“-' B ."!_h. L |+|. sis | 1
¥ | |J A

Routers R1 and R2 have established a network adjacency using EIGRP, and both routers are advertising subnets to its neighbor. After issuing the show ip EIGRP
topology all-links command in R1, some prefixes are no showing R2 as a successor. Which action resolves the issue?

A. Rectify the incorrect router ID in R2.
B. Enable split-horizon.

C. Configure the network statement on the neighbor.
D. Resolve the incorrect metric on the link.

Answer: D
NEW QUESTION 195

- (Exam Topic 3)
Refer to the exhibit.

Bibski Lp gy 19 19 10 4530
i rowiisg table ssiry Tor I8 I8 I8 4790, wersiss ¥
Patha: (P svallabhils, st 0F, Labie Dbl TP et Lag - Telle )
et mebewme § el L sy .
ehpal
18 A8 1 8 esisris Fi fres |60 18 10 (ST T Y ]
origis 10F, sstris &, lssipenf 188, walld. Ieblsessl
[ LWL}
10 00,10 F eebiris §j foss 18 3808 8 (18 0. 0180
orlgis ToF, ssyris 0 leselprsf L899 walld, Istssmsl, Geed

Rldaleew Lp bgpe 199 48 1 /W

i o ey Laliles ssiry Tos 1% (T " Al myw e FH

raths 7 evaillakis, bast ¥l tabhis Defeslt 1P St leg Teblsl
el s Ll el fa sey peE==T
[ 30 1]

js im Am & i@ 18 1B &)
B & festain W1 Fres b = [
ool juF. smbris B, lesalpral 100, ssight WIS vl . Aaipemet
(AT L [
anydl THILE
@ iD.18 ¥ ateie ¥y Fres B, 188 3 il i
g Day, ==iyie @ jaealpenl 198, walid. LREETES
o b -

A customer reports that user traffic of bank XYZ to the AAA server is not using the primary path via the R3-R2 link. The network team observes:
No fiber is cut on links R2 and R3.

As101 and AS 201 routers established BGP peering. Which configuration resolves the issue?

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy 300-410 dumps
@ 2 PQSS@QSU https://www.2passeasy.com/dumps/300-410/ (530 New Questions)

A)

R2({configroute-map BGP-Path permit 10
Vx'.'.' config-route-map )8 set metric 200

2 ¥ conh 3 Erouter bgp 68101
R2(ce -.’.__1 rouier ' neighbor 10 10 10.1 route-map BGP-Fath cut
B)

B lcontg Erouter bgp 65201

Ritconta-router #no neighber 10.10 10.5 weigin 32769

C)

:q : i o j_mm!i:g ﬂfiim.- 10 10 10.5 weight 32769
D)

mutt-map BGP-Path permit 10
£ = ot 1oCal F'I'E'I'fl'.'l‘r ce 200

_ ! ter o E.‘.r 01 -~ O %1 i
' fy rm'.l- nfil-ha:r 10.10 40 2 route-map BGR-Hath out

=
]
= aes

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A
NEW QUESTION 199

- (Exam Topic 3)
Refer to the exhibit.

ED/1 ED/3 (L]
VLANIO
el s
; | ——r—

Core_Sw1 NMS Server
10.221.10.11

UserSw2

f.r.‘l"l‘.' Swilk

access-list 11 permit 10.221.10.11
access-list 20 permit 10.221.10.10
access-list 22 permit 10.221.10.12
R1 '
snmp-server group NETVIEW v3 priv read NETVIEW access 20

snmp-server group NETADMIN v3 priv read NETWVIEW write NETADMIN access 20
snmp-sérver community CscOUs3r RO 20

snmp-server community CocOwrus3r AW 20

An engineer configured SNMP communities on the Core_SW1, but the SNMP server cannot obtain information from Core_SW1. Which configuration resolves this

issue?

A. snmp-server group NETVIEW v2c priv read NETVIEW access 20

B. access-list 20 permit 10.221.10.11

C. access-list 20 permit 10.221.10.12

D. snmp-server group NETADMIN v3 priv read NETVIEW write NETADMIN access 22

Answer: B

NEW QUESTION 204
- (Exam Topic 3)
What are the two reasons for RD and VPNv4 addresses in an MPLS Layer 3 VPN? (Choose two.)

A. RD is prepended to each prefix to make routes unique.

B. VPN RT communities are used to identify customer unigue routes.

C. When the PE redistributes customer routes into MP-BGP, they must be unique.
D. They are on a CE device to use for static configuration.
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E. They are used for a BGP session with the CE device.

Answer: AC

NEW QUESTION 206
- (Exam Topic 3)
How do devices operate in MPLS L3VPN topology?

A. P and associated PE routers with IGP populate the VRF table in different VPNs.
B. CE routers connect to the provider network and perform LSP functionality

C. P routers provide connectivity between PE devices with MPLS switching.

D. P routers support PE to PE VPN tunnel without LSP functionality

Answer: C
NEW QUESTION 207

- (Exam Topic 3)
Refer to the exhibit.

Dallas_Router:

interface GigabilEthernet0/0/0 364
doscnption Guest_VWii_10 66 .46 0722
encapsulation dol1Q 364

ip addreas 10.66456.1 255 2552540
ip nelper-address 10.192,104.212

ip helper-addreae 10191 103 140

Ip access-group GUEST.ACCESS in
p access-gioup GUEST.ACCESS-QUT oul
no ip redirects

no ip unreachables

no ip proxy-ang

ip accoss.lisl extended GUEST -ACCESS
remark Intemet Access Only
permit udp any any aq boolpc
permit udp any any €Q booips
deny ipany 10000 0.255.255 255
dany Ipany 172.1600 0.15.25%.255
deny ip any 192162000 0.255.3255
deny ip any 224.000 31 255 255255
deny ipany 16925400 0.0.255.255
deny Ipany 127.00.00 255.255.255
deny ipany 192,020 000255
deny ip any host 0o0ODO
perm ip 10 66 42000 0.255 any
permit ip 10 66 46 0 0.0 0.255 any
L]
5T 55.0UT
e53.81 extended GUEST-ACCESS
‘?nl::l::rk Used o block nbound traffic 1o CGuesl Metwvorks
permil udp any any cq boo!rs
pormet udp any any €9 boolipe
permut udp any any ©q domain
pormit udp any any
rmit iemp ANy any
x"‘ﬂf' tcp host 10,192,103 174 ¢q 15871 any
il lep amy any aalablithed
E:ny ip any 100000 255 1’55—(?2’;:5
T2 15 255
dany ip any 172.16 000
geny ipany 192.168.0.0 0.0.255 2‘.25
dony ip any 224.0.0 0 31.255 255255
deny ip any 169254 0000 2?5_255
deny ip any 127.0 0.0 0255255255
deny Ip any 192.0.2 0000255
deny Ip any hosl 0000

After a new regional office is set up,not all guests can access the internet via guest WiFi. Clients are getting the correct IP address from guest Wi-Fi VLAN 364.
which action resolves the issue ?

A. Allow 10.66.46.0/23 in the outbound ACL

B. Allow DNS traffic through the outbound ACL
C. Allow DNS traffic through the inbound ACL
D. Allow 10.66.46.0/23 in the inbound ACL

Answer: C

NEW QUESTION 209
- (Exam Topic 3)
Refer to the exhibit.
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Area 0

U;':: Areas SR

J >

Swi1 SW¢e
-

An error message "an OSPF-4-FLOOD_WAR?” is received on SW2 from SW1. SW2 is repeatedly receiving its own link-state advertisement and flushes it from the
network. Which action resolves the issue?

A. Change area 5 to a normal area from a nonstub area

B. Resolve different subnet mask issue on the link

C. Configure Layer 3 port channel on interfaces between switches
D. Resolve duplicate IP address issue in the network

Answer: D

NEW QUESTION 214

- (Exam Topic 3)

An engineer is implementing a coordinated change with a server team. As part of the change, the engineer must configure interlace GigabitEthernet2 in an existing
VRF "RED" then move the interface to an existing VRF "BLUE" when the server team is ready. The engineer configured interface GigabitEthemet2 in VRF "RED"

nterface GigabitEthernet2

jescription Migration |D: B410A60D0806G06
vrf forwarding RED

p address 10.0.0.0 255.255.255.254
negotiation auto

Which configuration completes the change?

A. interface GigabitEthernet2 no ip addressvrf forwarding BLUE

B. interface GigabitEthernet2 no vrf forwarding RED vrf forwarding BLUEip address 10.0.0.0 255.255.255.254
C. interface GigabitEthernet2 no vrf forwarding RED vrf forwarding BLUE

D. interface GigabitEthernet2 no ip addressip address 10.0.0.0 255.255.255.254vrf forwarding BLUE

Answer: B
Explanation:

When assigning an interface to a VRF, the IP address will be removed so we have to reassign the IP address to that interface.

NEW QUESTION 219

- (Exam Topic 3)

A network is configured with CoPP to protect the CORE router route processor for stability and DDoS protection. As a company policy, a class named class-default
is preconfigured and must not be modified or deleted. Troubleshoot CoPP to resolve the issues introduced during the maintenance window to ensure that:
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W LO: 10.90.2 2132
oo |2

E
10.10.12.0024

EDD 1
el LO: 10.90.1. 1732
EDM 1

10,170,713 0724

B 3

m LEr 10x 903 B

Topology Diagram

Guidelines Topology Tasks

A network is configured with CoPP to protect the CORE
router route processar for stability and DDoS protection. As
a company policy, a class named class-default is
preconfigured and must not be modified or deleted.
Troubleshoot CoPP 1o resolve the issues introduced during
the maintenance window to ensure that.

1. Dynamic routing policies are under CoPP-CRITICAL
and are allowed only from the 10.10.x.x range.

2. Telnet, SSH, and ping are under CoPP-IMPORTANT
and are allowed sirictly to/from 10.10..x to the CORE
router (Hint: you can verify using Loopback1)

3. All devices ping (UDF) any CORE router interface
successfully to/from the 10.10.x.x range and do not
allow anv other IP address
NORMAL (Hint: Traceroute port range 33434 33464)
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VAN CORE MOGMT
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MGMT

WAN CORE MGMT
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WAN CORE MGMT

A. Mastered
B. Not Mastered

Answer: A

Explanation:

CORE

policy-mao CoPP

class CoPP-CRITICAL

police 1000000 50000 50000 conform-action transmit exceed-action transmit
Text Description automatically generated with medium confidence

CORE# Copy run start TESTING: CORE
Graphical user interface Description automatically generated with medium confidence

MGMT
Graphical user interface, text Description automatically generated
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ird required, but nons

NEW QUESTION 222
- (Exam Topic 3)
Refer to the exhibit.

P 172.29.0.0/16, 1 successors, FD is 307200, serno 2

via 192.168.254.2 (307200/281600}), FastEthernet/1

via 192.168.253.2 (416200/352300), FastEthernet0/0

When the FastEthemet0/1 goes down, the route to 172.29.0 0/16 via 192.168.253 2 is not installed in the RIB. Which action resolves the issue?

A. Configure reported distance greater than the feasible distance
B. Configure feasible distance greater than the successor's feasible distance.
C. Configure reported distance greater than the successor's feasible distance.
D. Configure feasible distance greater than the reported distance

Answer: D

Explanation:

From the exhibit, we notice network 172.29.0.0/16 was learned via two routes:

+ From 192.168.254.2 with FD = 307200 and AD = 281600

+ From 192.168.253.2 with FD = 410200 and AD = 352300

The first route is installed into the RIB as the successor route because of lower FD.

When the first route fails, router will not use the second route as it does not satisfy the feasibility condition. The feasibility condition states that, the Advertised
Distance (AD, also called the reported distance) of a route must be lower than the feasible distance of the current successor route.

NEW QUESTION 225

- (Exam Topic 3)

An engineer creates a default static route on a router with a hop of 10.1.1.1. On inspection, the engineer finds the router has two VRFs, Red and Blue. The next
hop is valid for both VRFs and exists in each assigned VRF. Which configuration achieves connectivity?

A)

ip route vwr! BLUE G.0.00 255200358 253 1011 1

-
p route vri RED 00.00 255 2585 388.258 10.1.1 1

B)

i@ route wr! Red 0000 0.0.0.0 10.1

o rodte vrif Blue 0.0.0
C)

P royute V.v

_,
& B
o
'
¥

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 229
- (Exam Topic 3)
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Company XYZ
Network

Seon
LAM 1010

R101#sh run | section sla

ip sla 1
tcp-connect 2.2.2.2 3000 source-ip 1.1.1.1
threshold 1000

e d s mssds 1AM

ip sla 2
icmp-jitter 2.2.2.2 source-ip 1.1.1.1 num-packets 100 interval 10
threshold 1000
timeout 1000
frequency 10
ip sla schedule 2 life forever start-time now
R101#sh ip sla summary
IPSLAs Latest Operation Summary
Codes: * active, " inactive, ~ pending

ID Type Destination Stats (ms) Return Code Last Run
*1 tecp-connect 2.2.2.2 - No connection 33 seconds ago
*2 icmp-jitter 2.2.2.2 RTT=4 OK 3 seconds ago

£

S0

Refer to the exhibit While troubleshooting an issue on the network, an engineer notices that a TCP Connect operation failed on port 3000 between R101 and
R201. Which command must be configured on R201 to respond to the R101 IP SLA configurations with a control connection on UDP port 19677

A. ip sla responder udp-echo ipaddress 1.1.1.1 port 1967
B. ip sla responder tcp-connect ipaddress 1.1.1.1 port 3000
C. ip sla responder tcp-connect ipaddress 2.2.2.2 port 3001
D. ip sla responder

Answer: A

NEW QUESTION 231
- (Exam Topic 3)
Refer to the exhibit.
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AS 1000
e0/0 elf1
(.10) (.10)
| f e/
| e0/1 e0/1/
5 ; (1) . R
195.1.1.0/24 - - : 195.1.2.0/24
(.111) AS 111 (.111)
20/

E‘ .::I-. Ij e

1.1.1.0/24
1.1.2.0/24
AS111
Router bgp 111
Neighbor 195.1.1.1 remote-as 100
Neighbor 195.1.1.1 allowas-in
Neighbor 195.1.2.2 remote-as 200
Neighbor 195.1.2.2 allowas-in

AS111 is receiving its own routes from AS200 causing a loop in the network. Which configuration provides loop prevention?

A)
router bgp 111
neighbor 195.1.1.1 as-override
neighbor 195.1.2.2 as-override
B)
router bgp 111
neighbor 195.1.1.1 as-override
no neighbor 195.1.2.2 allowas-in

C)

router bgp 111

no neighbor 195.1.1.1 allowas-in
no neighbor 195.1.2.2 allowas-in

D)
router bgp 111

heighbor 195.1.2.2 as-override
no neighbor 185.1.1.1 allowas-in

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

Explanation:

A router discards BGP network prefixes if it sees its ASN in AS-Path as a loop prevention mechanism. The “allowas-in” feature allows routes to be received and
processed even if router detects its own ASN in AS-Path.

NEW QUESTION 232
- (Exam Topic 3)
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.-’f-._q-k-'-
\I ’ \£0/0

E0f1 E0/D

R1 [DHCP Server)

£0/0 N N \'-,

=

Swilch

‘xi 'l;‘,/"J

H1 [DHCP Chent)

Refer to the exhibit. The client server but the show command does not show the IPv6é DHCP bindings on the server. Which action resolves the issue?

A. Extend the DHCP lease time because R1 removed the IPv6 address earlier after the lease expired.
B. Configure H1 as the DHCP client that manually assigns the IPv6 address on interlace e0/0..

C. Use the 2001:DBB:BAD:CODE::/64 prefix for the DHCP pool on R1.
D. Configure authorized DHCP servers to avoid IPv6 addresses from a rogue DHCP server.

Answer: C

NEW QUESTION 236
- (Exam Topic 3)
Refer to the exhibit.

R1 (config)# exit

R1 (config)# ip vif CCNP

R1 (config-vrf)# rd 1:100

R1 (config-vrf)# exit

R1 (config)# interface Loopback0

R1 (config-if)# ip address 10.1.1.1 255.255.255.0
R1 (config-if)# ip vrf forwarding CCNP

R1 (config-if}# exit

R1# ping vif CCNP 10.1.1.1
% Unrecognized host or address, or protocol not running.

Which command must be configured to make VRF CCNP work?

A. interface LoopbackO0 vrf forwarding CCNP

B. interface LoopbackOip address 10.1.1.1 255.255.255.0
C. interface LoopbackOip address 10.1.1.1 255.255.255.0 vrf forwarding CCNP
D. interface LoopbackOip address 10.1.1.1 255.255.255.0 ip vrf forwarding CCNP

Answer: B

Explanation:

From the exhibit, we learn that the command “ip address 10.1.1.1 255.255.255.0” has been issued before the command “ip vrf forwarding CCNP”. But the second
command removed the IP address configured in the first command so we have to retype the IP address command.

NEW QUESTION 241
- (Exam Topic 3)
Refer to the exhibit.
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An engineer must configure OSPF with R9 and R10 and configure redistribution between OSPF and RIP causing a routing loop Which configuration on R9 and

R10 meets this objective?
A)
router ospf 1

redistribute rip subnets tag 20
[

route-map deny_tag20 deny 10
match tag 20

route-map deny_tag20 permit 20
[ ]

router ospf 1
distribute-list route-map deny_tag20 in

B)

router ospf 1

redistribute rip subnets tag 20
1

'rnute-map deny_tag20 permit 10
match tag 20

route-map deny_tag20 permit 20
L)

i*nu'l-r ospf 1

distribute-list route-map deny_tag20 in
C)

router ospf 1

redistribute rip subnets tag 20
Ll

ﬁutt-map deny_tag20 deny 10
match tag 20

route-map deny_tag20 deny 20
!

.rm.ntr ospf 1
distribute-list route-map deny_tag20 in

D)
router ospf 1

redistribute rip subnets tag 20
|

l"amt-map deny_tag20 deny 10
match tag 20

route-map deny_tag20 permit 20
1

l.'omer rip 1
distribute-list route-map deny_tag20 in

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 243
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- (Exam Topic 3)

RD#show ip bgp 192.168.1.1
Advertised to update-groups:
k

65101
10.10.10.2 {metric 2) from 10.10.10.2 (10.10.10.2)
Origin IGP, metric 100, localpref 100, welght 65535, wvalid, external,
best
65101
10,0.0.17 (metric 2) from 10.10.10.6 (172.16.20.1)
Origin IGP, metric 0, localpref 100, valid, internal

RB#show ip bgp 192.168.1.1
BGP routing table entry for 192.168.1.1/32, version 10
Paths: (1 available, best #1, table Default-IP-Routing-Table)

Advertised to update-groups:

2
Local
10.10.10.1 (metric 2) from 10.10.10.1 (192.168.1.1)
Origin IGP, metric 0, localpref 100, valid, internal, best

192168 50,0

BGP 65101 10.10.10.2

190168 1.1 10.30.20.3

n” 18

10.0.0.16/ 30

10.10.10.5% 1010006

Refer to the exhibit. A customer finds that traffic from the application server (192.168.1.1) to the HUB site passes through a congested path that causes random
packet drops. The NOC team influences the BGP path with MED on RB. but RD still sees that traffic coming from RA is not taking an alternate route. Which
configuration resolves the issue?

A)

RD(config j#router bgp 65201
RD(config-router j#no neighbor 10.10.10.2 weight 65535

B)
RB(config)#router bgp 65101
RB(config-router j#no neighbor 10.10.10.3 route-map HIGH-LP out

C)

RB(config)#router bgp 65101

RB(config-router j#neighbor 10.10.10.3 weight 50
D)

RC(config #router bgp 65101
RC(config-router )#neighbor 10.10.10.6 route-map HIGH-LP out

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 248
- (Exam Topic 3)
Which protocol must be secured with MD-5 authentication across the MPLS cloud to prevent hackers from introducing bogus routers?

A. MP-BGP

B. LSP
C. RSVP
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D. LDP

Answer: A

NEW QUESTION 252
- (Exam Topic 3)

Core_Swil NS Server
| 10.231.10.11

L0 \;\, Fiof1 E0f3 o
ey * —

Rifcanfigil ip verily drop-rate compute window 60
Rillcankipgii ip verby drop-rate compule interval 60
Rlcanfig ip veeily droprate notily hold-down 60
Rl{canfigi interface ethernet 0/0

Rlleanfig-if# ip werify unicast notdication threshold 75000
Rljcanlig-if]# samp wrap ip verify drop-rate

Ellcanhp-lle end |

Refer to the exhibit. An engineer configured SNMP traps to record spoofed packets drop of more than 48000 a minute on the ethernet0/0 interlace. During an IP
spoofing attack, the engineer noticed that no notifications have been received by the SNMP server. Which configuration resolves the issue on R1?

A. ip verity unicast notification threshold 48000
B. ip verify unicast notification threshold 8000
C. ip verify unicast notification threshold 800
D. ip verify unicast notification threshold 80

Answer: C

NEW QUESTION 257
- (Exam Topic 3)

A customer reports that traffic is not passing on an EIGRP enabled multipoint interface on a router configured as below:

interface Serial0/0 no ip address

interface Server0/0/0.9 multipoint ip address 10.1.1.1 255.255.255.248
ip split-horizon eigrp 1

Which action resolves the issue?

A. Enable poison reverse

B. Enable split horizon

C. Disable poison reverse

D. Disable split horizon

Answer: D

NEW QUESTION 259

- (Exam Topic 3)
Network A IPV.6 Router Network B
e Py
© GioD Gion

L) - 5

ol

FTP Chent
2001 0db8 8000 1

FTP Server
2001 0db8 1

- - - - L = - -
AnNterilac 1gaDlTeELiermet!

4 a wir —— S p——

iaescCripL.ion iF oSERVERN

L - = -

I _E aJarecs

— e = - 3 T = | i

ipvé address 1 :DBS: : F/ 33

1pVe &@nabla

5 s o = = = g = L

ipvVe TIalllC—-ll.Tel FTP-SERVER ¢
]

. & =% - i
interlacCe LlgabDlitTECLNerImetus

== i : —— e —— —

-‘E---:-i-i-—l. T &k - ki LAV

e e addrass

L -.: Sl Cwik et Sar o

--JI- - —~ @ - « « B E |

ipvt address 20004DBB:BD00::F/3

1D%E &nNable

-

R ahts o = s - 4-‘-"4-_‘—1.- e T TE T 5 =

- oo b § e B | =g T ak Ly IS N -

- E 1 - e T -—
ipVe & ass-11s8t FIP-CLIENT

- F A e U -1 & . . e _ - -
permit tcp host 2001:DBB: O::1 host 2001:DB 1 eq ftp
— - - - — | SUp— ’ 0 s 1 [E— a g - Fars
permit tcp host 2001:DBS: )0::1 host 2001:DB 1 eg ftp
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3 e — - i — gy =
ipve access-list FIP-CLIENT
parmit tcp host 20012DRE:3000: 1 host 2001
- -
pErmitT TP NOST £ 1:DBR 1 host 2 d
]
ipveé access-list FIP-SERVER
o —. g S —— —— o . ass 2 s 1" KL
Brmit Tor st 2001:DBE::1 oSt 2 1:DBB:8
- L
Pl V5 - - - & = = (' = jm
+ e & = - - [ = - = W - -+ o

o m

]
LR -rl'"

kel ke

blishesd
established

Refer to the exhibit. When an FTP client attempts to use passive FTP to connect to the FTP server, the file transfers fail Which action resolves the issue?

A. Configure active FTP traffic.

B. Modify FTP-SERVER access list to remove established at the end.
C. Modify traffic filter FTP-SERVER in to the outbound direction.

D. Configure to permit TCP ports higher than 1023.

Answer: D
NEW QUESTION 261

- (Exam Topic 3)
Refer to the exhibit.

Contiguration Qutput.

Aaa néw-model

244 group Server 1acacs+ admis
SETVET name admin

I
ip tacacs source-interface GigabdEthernell

2aa authentication login admin group tacacs+ local enable
aaa Se5500-10 cCommon

|
lacacs senver admin

address ip 1011156

key 7 OV150F 163E1COT0320
|
fine vty 0 4

iogin authentication aamin

Debug Output:

Oct 22 12°38 57 587 AAA/BIND(OOOOO01A) Bind i1

Oct 22 12 3857 587, AAAALUTHENLOGIN (D000001A) Pick method lst ‘admin

Oct 22 1230 57 587 ARAJAUTHENENABLE(0000001A) Processing request action LOGIN
OCt 22 123857 587 ARAALUTHENENABLE(ODOOO01A) Done status GET_PASSWORD
Oct 22 12 .39 02 327 AAAAUTHENENABLE(0000001A) Processing request action LOGIN
Oct 22 12:39.02 327, AAAAUTHENEMABLE(0OO0DO1A) Done status FAIL - bad password

An administrator configured a Cisco router for TACACS authentication, but the router is using the local enable password instead Which action resolves the issue?

A. Configure the aaa authentication login admin group admin local enable command instead.
B. Configure the aaa authentication login admin group tacacs* local enable none command instead.

C. Configure the aaa authentication login admin group tacacs* local if-authenticated command instead.
D. Configure the aaa authentication login default group admin local if-authenticated command instead.

Answer: C

NEW QUESTION 265
- (Exam Topic 3)

Customer ABC BGP Peering

. BGP AS 100 et
, OSPFvIIPVE v
WA 0D

BGP AS 100
OSPFvd IPVE
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L eI ]
SW100#sh ip bgp ipvé uni summ
BGP router identifier 100.0.0.1, local AS number 100
BGP table version is 1, main routing table version 1

Neighbor v AS MsgRcvd MsgSent ThblVer InQ OutQ Up/Down State/PfxRed
2001:ABC:AABB:1100:1122:1111:2222:AMAL
4 100 6 5 1 0 0 00:00:58 0

SW100#sh ip bgp ipvé unicast
SW100%

Rl#sh ip bgp ipvé uni
BGP table version is 4, local router ID is 1.1.1.1

Network Next Hop Metric LocPrf Weight Path
* i 2001::4/128 2001::4 0 100 0 300 4
*>i 2002::2/128 2001::2 0 100 0i

R1#
Rl§sh ipvé route
0 2001::2/128 [110/1)
via FEBO::5200:C3FF:FE01:E600, GigabitEthernet0/0
B 2002::2/128 [200/0]

via 2001::2

Refer to the exhibit SW100 cannot receive routes from R1 Which configuration resolves the issue?

R1
router bgp 100
address-family ipv6
neighbor 2001::2 route-reflectorclient
neighbor 2001:ABC:AABB:1100:1122:1111:2222: AAA2 route-reflector-client

R2
router bgp 100
address-family ipvé
neighbor 2001::2
neighbor 2001::1 next-hop-self

R1
router bgp 100
address-family ipv6
neighbor 2001::2 route-reflector-client
neighbor 2001:ABC:AABB:1100:1122:1111:2222: AAA2 route-reflector-client

R2
router bgp 100
address-family ipvé

neighbor 2001::2

neighbor 2001::1 as-override
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R1

router bgp 100
address-family ipvé
no synchronization

R2

router bgp 100
address-family ipv6
no synchronization

SW100

router bgp 100
address-family ipvé
no synchronization

R1

router bgp 100
address-family ipvé
redistribute connected

R2

router bgp 100
address-family ipv6
redistribute connected

A. Option A
B. Option B
C. Option C
D. Option C

Answer: A

NEW QUESTION 269
- (Exam Topic 3)
Which table is used to map the packets in an MPLS LSP that exit from the same interface, via the same next hop, and have the same queuing policies?

A.RIB
B. FEC
C. LDP
D. CEF

Answer: B

NEW QUESTION 271
- (Exam Topic 3)
What is a function of IPv6 Source Guard?

A. It works with address glean or ND to find existing addresses.
B. It inspects ND and DHCP packets to build an address binding table.
C. It denies traffic from known sources and allocated addresses.
D. It notifies the ND protocol to inform hosts if the traffic is denied by it.

Answer: A

Explanation:

IPv6 source guard is an interface feature between the populated binding table and data traffic filtering. This feature enables the device to deny traffic when it is
originated from an address that is not stored in the binding table. IPv6 source guard does not inspect ND or DHCP packets;rather, it works in conjunction with IPv6
neighbor discovery (ND) inspection or IPv6 address glean, both of which detect existing addresses on the link and store them into the binding table.

NEW QUESTION 275
- (Exam Topic 3)
Which function does LDP provide in an MPLS topology?

A. It enables a MPLS topology to connect multiple VPNs to P routers.
B. It provides hop-by-hop forwarding in an MPLS topology for LSRs.
C. It exchanges routes for MPLS VPNs across different VRFs.

D. It provides a means for LSRs to exchange IP routes.

Answer: B
Explanation:
LDP provides a standard methodology for hop-by-hop, or dynamic label, distribution in an MPLS network by assigning labels to routes that have been chosen by

the underlying Interior Gateway Protocol (IGP) routing protocols. The resulting labeled paths, called label switch paths (LSPs), forward label traffic across an MPLS
backbone to particular destinations.
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Reference: https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/mp_ldp/configuration/12-4t/mp-ldp- 12-4t-book.pdf

NEW QUESTION 279
- (Exam Topic 3)

admin@linux:~5 telnet 198.51.100.64
Trying 198.51.100.¢64...

Connected to 198.51.100.64.

Escape character is '~]"'.

User Access Verification

Password: admin

CPE> exit

Connection closed by foreign host.
admin@linux:~5 ssh 198.51.100.64
admin@l198.51.100.€4's password: admin
Permission denied, please try again.
admin@l198.51.100.64"'s password: admin
Permission denied, please try again.
admin@198.51.100.€4"'s password: admin

admin@linux:~3

Connection closed by 198.51.100. 64 port 22

Refer to the exhibit. An administrator can log in to the device using Telnet but the attempts to log in to the same device using SSH with the same credentials fail

Which action resolves this issue?

A. Configure SSH service on the router

B. Configure transport input all on the VTY lines to allow SSH
C. Configure to use the Telnet user database for SSH as well
D. Configure the VTY lines with login local

Answer: A
NEW QUESTION 284

- (Exam Topic 3)
Refer to the exhibits.

London - “show ip route” output

Gateway of last resort ils not set

172.1.0.0/16 is variably subnatted, 5 subnets,

router eigrp 111
natwork 172.1.0.0
network 172.16.0.0
no auto-summary

c 172.1.11.0/24 is directly connected, Ethernaet(/O

L 172.1.11.1/32 is directly connected, Ethernet0/0

c 172.1.12.0/24 is directly connected, Ethernet0/1

L 172.1.12.1/32 is directly connected, Etharnet(/1

D 172.1.13.0/24 (90/76800) wvia 172.1.11.2, 00:00:50, Ethernet0/0
172.16.0.0/16 ia wvariably subnetted, 8 subnets, 2 masks

c 172.16.1.0/24 is directly connected, Loopback0

L 172.16.1.1/32 is directly connected, Ethernet(/0

c 172.16.2.0/24 is directly connected, Loopbackl

L 172.16.2.1/32 is dir-ﬁ;ly connected, Loopbackl

R 172.16.3.0/24 [120/1) via 172.1.11.2, 00:00:08, Ethernet0/0

R 172.16.4.0/24 [120/1] wia 172.1.11.2, 00:00:08, Ethernetd/D

D 172.16.5.0/24 [90/156160) wia 172.1.12.3, 00:00:50, Ethernetd/1

D 172.16.6.0/24 [90/156160) wia 172.1.12.3, 00:00:50, Ethernet0/1

Rome - “show run | section router” output
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(1) e0/1 7 2)

1 Gbps

&
172.1.12.0/24 172.1.13.0/24
e0/0 0N

u
(3) % (3

Barcelona
LAN Segments

172.16.5.0/24
172.16.6.0/24

LAN Segments LAN Segments

172.16.1.0/24 172.16.3.0/24

172.16.2.0/24 172.16.4.0/24

N :i (1) 172.1.11.0/24 (:2) :: _—
e 100 Mbps e0/0

London must reach Rome using a faster path via EIGRP if all the links are up but it failed to take this path Which action resolves the issue?

A. Increase the bandwidth of the link between London and Barcelona

B. Use the network statement on London to inject the 172 16 X 0/24 networks into EIGRP.
C. Change the administrative distance of RIP to 150

D. Use the network statement on Rome to inject the 172 16 X 0/24 networks into EIGRP

Answer: D

NEW QUESTION 286
- (Exam Topic 3)

An engineer configured routing between multiple OSPF domains and introduced a routing loop that caused network instability. Which action resolves the problem?

A. Set a tag using the redistribute command toward a domain and deny inbound m the other domain by a matching tag
B. Set a tag using the redistribute command toward a different domain and deny the matching tag when exiting from that domain

C. Set a tag using the network command in a domain and use the route-map command to deny the matching lag when exiting toward a different domain
D. Set a tag using the network command in a domain and use the route-map command to deny the matching tag when entering into a different domain

Answer: A

NEW QUESTION 288
- (Exam Topic 3)

' AS64513

B

|AS64512 gk |

i

R1#show ipv6 access-list

IPvE access list inbound-acl
permit (Cp host 2001:DB8::2 eq bgp host 2001:088::1 (75 malches) sequence 20
permit lcp host 2001:DB8::2 host 2001:088::1 eq bgp (17 malches) sequence 30
deny ipv6 2001:088::/32 any (77 matches) sequence 40
permit ipv6 any (20 maiches) sequence 1000

R1#ping ipv6 2001:DB8::2

Type escape sequence o abort.

Sending 5, 100-byte ICMP Echos to 2001:DB8::2, timeout is 2 seconds:
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Success rate is 0 percent (0/5)

R1#show ipvB access-list

IPvE access list inbound-acl
permit Icp host 2001:0B8::2 eq bgp host 2001:088::1 (77 malches) sequence 20
permit tcp host 2001:DB8::2 host 2001:DB8::1 eq bgp (19 malches) sequence 30
deny ipv6 2001:DB8::/32 any (95 matches) sequence 40
permit ipvg any (23 matches) sequence 1000

R1#

Refer to the exhibit. An engineer applied filter on R1 The interface flapped between R1 and R2 and cleaning the BGP session did not restore the BGP session and

failed Which action must the engineer take to restore the BGP session from R2 to R1?

A. Apply the IPv6 traffic filter in the outbound direction on the interface

B. ICMPv6 must be permitted by the IPv6 traffic filter

C. Enable the BGP session, which went down when the session was cleared.
D. Swap the source and destination IP addresses in the IPv6 traffic filter

Answer: B

NEW QUESTION 293
- (Exam Topic 3)
What are the two prerequisites to enable BFD on Cisco routers? (Choose two)

A. A supported IP routing protocol must be configured on the participating routers.

B. OSPF Demand Circuit must run BFD on all participating routers.

C. ICMP must be allowed on all participating routers.

D. UDP port 1985 must be allowed on all participating routers.

E. Cisco Express Forwarding and IP Routing must be enabled on all participating routers.

Answer: CE

NEW QUESTION 295
- (Exam Topic 3)

Which mechanism must be chosen to optimize the reconvergence time for OSPF at company location 407173257 that is less CPU-intensive than reducing the

hello and dead timers?

A.BFD

B. Dead Peer Detection keepalives
C.SSO

D. OSPF demand circuit

Answer: A

NEW QUESTION 296
- (Exam Topic 3)

Refer to the exhibit.
P dUUIBSS 4.4 4. 4 20332032 203U

I

interface FastEthernet1/0
Description = WAN link ****

ip address 10.0.0.1 255.255.2555.0
I

interface FastEthernet1/1
Description **** LAN Network ***
ip address 192.168.1.1 255.255.2555.0
|

I

router ospf 1

router-id 4.4.4 4
log-adjacency-changes

network 4444 0.0.0.0 area 0
network 10.0.0.1 0.0.0.0 area 0

network 192.1656.1.1 0.0.0.0 area 10
1

A)

interface loopback0
ip address 4.4.4.4 255.255.255.0
ip ospf network broadcast

B)
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interface loopback0
ip address 4.4.4.4 255.255.255.0
ip ospf interface type network

©)
interface loopback0
ip address 4.4.4.4 255.255.255.0
ip ospf network point-to-point
D)

interface loopback0
ip address 4.4.4.4 255.255.255.0
ip ospf interface area 10

A. Option
B. Option
C. Option
D. Option

Answer: A

NEW QUESTION 297
- (Exam Topic 3)

1 (config)# ip vif CCNP

1 (config-viTy# rd 1:100

1 (config-vrfy# exit

1 (config)# interface Loopback0

1 (config-if)# ip address 10.1.1.1 255.255.255.0

1 (config-if)# ip vif forwarding CCNP

R1 (config-ifj# exit

R1 (config)# exit

R1# ping vif CCNP 10.1.1.1

% Unrecognized host or address, or protocol not running.

R
R
R
R
R
R

Refer to the exhibit Which command must be configured to make VRF CCNP work?

interface Loopbacki
ip address 10.1.1.1 266.265.255.0
wif forwarding CCHP

interface Loophackl
ip address 10.1.1.1 255.265.255.0

interface Loopback(
wrf ferwarding CCMP

interface Laapbacki
Ip address 10,1.1.1 255.255.255.0
ip vrf forwarding CCNP

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 302
- (Exam Topic 3)
R1 and R2 are configured as eBGP neighbor , R1 is in AS100 and R2 is in AS200. R2 is advertising these networks to R1:

The network administrator on R1 must improve convergence by blocking all subnets of 172-16.0.0/16 major network with a mask lower than 23 from coming in,
Which set of configurations accomplishes the task on R1?

A. ip prefix-list PL-1 deny 172.16.0.0/16 le 23 ip prefix-list PL-1 permit 0.0.0.0/0 le 32!router bgp 100neighbor 192.168.100.2 remote-as 200 neighbor
192.168.100.2 prefix-list PL-1 in

B. ip prefix-list PL-1 deny 172.16.0.0/16 ge 23 ip prefix-list PL-1 permit 0.0.0.0/0 le 32!router bgp 100neighbor 192.168.100.2 remote-as 200 neighbor
192.168.100.2 prefix-list PL-1 in

C. access-list 1 deny 172.16.0.0 0.0.254.255 access-list 1 permit any!router bgp 100neighbor 192.168.100.2 remote-as 200neighbor 192.168.100.2 distribute-list 1
in

D. ip prefix-list PL-1 deny 172.16.0.0/16 ip prefix-list PL-1 permit 0.0.0.0/0'router bgp 100neighbor 192.168.100.2 remote-as 200 neighbor 192.168.100.2 prefix-list
PL-1in
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Answer: A

Explanation:
“Blocking all subnets of 172.16.0.0/16 major network with a mask lower than 23 from coming in” would block 172.16.16.0/20.

The first prefix-list “ip prefix-list PL-1 deny 172.16.0.0/16 le 23" means “all networks that fall within the 172.16.0.0/16 range AND that have a subnet mask of /23 or

less” are denied.
The second prefix-list “ip prefix-list PL-1 permit 0.0.0.0/0 le 32" means allows all other prefixes.

NEW QUESTION 306
- (Exam Topic 3)

il 4 8 - mealamamsy 10 10 10 O J2EE D JEE
Jul':‘l'."‘ &b ﬂ..]llu I!"'l.r"‘-.la. Wy ab AW skl doo 1.::5 -l.l.::.- W

EIGRP
OSPF

\'V, s Jh Y.
e N 4

Elish run | & eigrp

e

Refer to the exhibit. An engineer configured router R3 to redistribute the prefix 10.10.10.0/24 from OSPF into EIGRP R1 has no connectivity to the prefix. Which

action enables receipt of prefixes on R1?

A. R3 is advertising the 10.20.20 0'24 prefix with a TTL of 1, R3 must set the TTL to 2 for this prefix.

B. R1 docs not have a neighbor relationship with R2. The EIGRP process should be cleared on R1.

C. Duplicate router IDs on R1 and R3, R1 should modify its router ID.

D. R1 is not receiving the next-hop IP address of R3. R2 must enable the network 10 20.20.0V24 within EIGRP.

Answer: B

NEW QUESTION 309
- (Exam Topic 3)

The network administrator configured the router for Control Plane Policing to limit OSPF traffic to be policed to 1 Mbps. Any traffic that exceeds this limit must also

be allowed at this point for traffic analysis. The router configuration is:
access-list 100 permit ospf any any
|

class-map CM-OSPF match access-group 100

!

policy-map PM-COPP class CM-OSPF

police 1000000 conform-action transmit

!

control-plane

service-policy output PM-COPP

The Control Plane Policing failed to monitor and police OSPF traffic. Which configuration resolves this issue?
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no accessist 100

access-ist 100 permit tep any any eq 179
access-list 100 permit ospf any amy
access-ist 101 permit tcp any any range 22 23
1

class-map CM-MGMT
na match access-group 100
match access-group 101
1
cantral-plane
no service-policy eutput PM-COPP
senvice-policy Input PM-COPP

&t

Mo access-list 100

access-list 100 permit tcp any any &g 178
access-lst 100 permit tcp any any range eq 22
access-list 100 permit tcp any any range eq 23
accessdist 100 permit ospf any any

control-plans
no senvice-policy cutput PM-COPP
service-policy input PM-COPP

fio access-list 100
accessdist 100 parmit tep any any eq 179
access-list 100 permit ospf any amy
accessdist 101 permit tcp any any range 22 23
1
!
clags-map CM-MGMT

no match access-group 100

match access-group 101

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 311

- (Exam Topic 3)
192 168 600022
:_-': ‘ml,.,!-,!_,_
—— 1)
.__]. £
r@’;i
8
VLAN 5192188 5. 10 —
VLANT 1921887 10 - —
VLAN 2 192.168.2. 10 — . 2l
VLAN 29 192.168.39.10 : 1.,'.“
VLAN 80 192.168.80.10 —-— ——
VLAN G 192168 8 10 — 192168 9 0 ; =
192 168 BO.O'25

Refer to Ihe exhibit After an engineer configured a new Cisco rouler as a DHCP server, users reponed iwo primary issues:
> Devices in the HR subnet have intermittent connectivity problems.

> Workstations in the LEGAL subnet cannot obtain IP addresses.
Which configurations must the engineer apply to ROUTER _1 to restore connectivity for the affected devices?
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interface GigabitEthernet0/0.5
encapsulation dot1Q 5
ip address 192.168.5.10 255.255.255.0
ip helper-address 192.168.39.100

L]

interface GigabitEthernet0/0.80
encapsulation dot1Q 80
ip address 192.168.80.10 255.255.255.128
ip helper-address 192.168.39.100

L]

ip dhep excluded-address 192.168.5.1 192.168.5.10
ip dhcp excluded-address 192.168.80.1 192.168.80.10
L]

ip dhcp pool LEGAL
network 192.168.80.0 255.255.255.128
default-router 192.168.80.10

ip dhcp pool HR
network 192.168.5.0 255.255.255.0
default-router 192.168.5.10

interface GigabitEthernet0/0.5
encapsulation dot1Q 5
ip address 192.168.5.10 255.255.255.0
ip helper-address 192.168.39.100

1

interface GigabitEthernet0/0.80
encapsulation dot1Q 80
ip address 192.168.80.10 255.255.255.128
ip helper-address 192.168.39.100

L]

ip dhecp excluded-address 192.168.80.1 192.168.80.10
L]

ip dhecp pool LEGAL
network 192.168.80.0 255.255.255.128
default-router 192.168.80.10

(]

ip dhep pool HR
network 192.168.5.0 255.255.255.0
default-router 192.168.5.10
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interface GigabitEthernet0/0.5
encapsulation dot1Q 5
ip address 192.168.5.10 255.255.255.0
ip helper-address 192.168.93.100

L]

interface GigabitEthernet0/0.80
encapsulation dot1Q 80
ip address 192.168.80.10 255.255.255.128
ip helper-address 192.168.39.100

L)

in dhcp excluded-address 192.168.5.1 192.168.5.1
ip dhep excluded-address 192.168.80.1 192.168.80.10
]

ip dhep pool LEGAL
network 192.168.80.0 255.255.255.128
default-router 192.168.80.10

[]

ip dhep pool HR
network 192.168.5.0 255.255.255.0
default-router 192.168.5.10

interface GigabitEthernet0/0.5
encapsulation dot1Q 5
ip address 192.168.5.10 255.255.255.0
ip helper-address 192.168.39.100

L]

interface GigabitEthernet0/0.80
encapsulation dot1Q B0
ip address 192.168.80.10 255.255.255.128
ip helper-address 192.168.39.100

L]

;p dhecp excluded-address 192.168.5.1 192.168.5.5
ip dhcp excluded-address 192.168.80.1 192.168.80.110
L)

ip dhep pool LEGAL
network 192.168.80.0 255.255.255.128
default-router 192.168.80.10

|

ip dhcp pool HR
network 192.168.5.0 255.255.255.0
default-router 192.168.5.10

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 313
- (Exam Topic 3)
Refer to the exhibit.

*Sep 26 19:50:43.504: SNMP: Packet received via UDP from
192.168.1.2 on GigabitEthernet0/1SrParseV3SnmpMessage: No
matching Engine ID.

SrParseV3SnmpMessage: Failed.
SrDoSnmp: authentication failure, Unknown Engine ID

*Sep 26 19:50:43.504: SNMP: Report, reqid 29548, errstat 0,
erridx 0

internet.6.3.15.1.140=3

*Sep 26 19:50:43.508: SNMP: Packet sent via UDP to 192.168.1.2
process_mgmt_req_int: UDP packet being de-queued

Which two commands provide the administrator with the information needed to resolve the issue? (Choose two.)

A. Show snmp user

B. debug snmp engine-id
C. debug snmpv3 engine-id
D. debug snmp packet

E. showsnmpv3 user

Answer: AD
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Explanation:

There are 3 values in the SNMPVv3 header that must match for the communication to take place: snmpEnginelD, snmpEngineTime, snmpEngineBoots. The error
received indicates a problem with the EnginelD value: “authentication failure, Unknown Engine ID”

To specify the Engine ID, we can use the command “show snmp user”. The following example specifies the username as abcd with Engine ID:
00000009020000000C025808:

RouterZshow snmp user abcd

User name: abcd

Engine ID: 00000009020000000C025808
storage-type: nonvolatile active access-list: 10
Rowstatus: active

Authentication Protocol: MD5

Privacy protocol: 3DES

Group name: VacmGroupName

Group name: VacmGroupName

The “debug snmp packet” command displays all SNMP packets that are arriving and being replied to.
NEW QUESTION 315

- (Exam Topic 3)
Refer to the exhibit.

router ospfv3 1

router-id 10.1.1.1

address-family ipv4 unicast
passive-interface Loopback(
exit-address-family

address-family ipv6 unicast
passive-interface Loopback(
exit-address-family

interface Loopback0

ip address 10.1.1.1 255.255.255.255
ipv6 address 2001:DB8::1/64

ospfv3 10 ipv4 area 10

ospfv3 10 ipvb area 0

interface GigabitEthernet2

ip address 10.10.10.1 255.255.255.0
ipv6 enable

ospfv3 10 ipv4 area 10

ospfv3 10 ipv6 area 0

An administrator must configure the router with OSPF for IPv4 and IPv6 networks under a single process. The OSPF adjacencies are not established and did not
meet the requirement. Which action resolves the issue?

A. Replace OSPF process 10 on the interface with OSPF process 1, and configure an additional router IDwith IPv6 address.

B. Replace OSPF process 10 on the interface with OSPF process 1, for the VPv6 addressma nd remove process route ID with IPv6 address.
C. Replace OSPF process 10 on the interface with OSPF process 1, and remove process 10 from the global configuration.

D. Replace OSPF process 10 on the interface with OSPF process 1 for the IPv4 address, and remove process 10 from the global configuration.

Answer: C

NEW QUESTION 319
- (Exam Topic 3)
Refer to the exhibit.
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After the network administrator rebuilds the IPv6 DHCP server, clients are not getting the IPv6 address lease. Which action resolves the issue?

A. Remove FE80 A8BB CCFF FEOO 5000 assigned by the IPV6 DHCP server.
B. Add Ipv6 dhcp sarver MY_POOL under the interface ethernet 0/0 on H1.
C. Add Ipv6 dhcp server MY_POOL under the interface ethernet 0/0 on R1.
D. Configure FF02::1:2 to discover al IPv6 OHCP cfcents

Answer: C

NEW QUESTION 322

- (Exam Topic 3)

Which technique removes the outermost label of an MPLS-tagged packet before the packet is forwarded to an adjacent LER?

A. label swap

B. explicit-null

C. label imposition
D. PHP

Answer: D

NEW QUESTION 327

- (Exam Topic 3)
Refer to the exhibit.
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Fl#show ip rou

te eigrp

&

i W % .

| include 10.

TR of

Y =l - e o

nfig) #ip prefix-list EIGRP seq 10 permit 10.0.0.0/8

config) #¢ip prefix-list EIGRP seq 20 deny 0.0.0.0/0 le 32
config) router eigrp 10
: 1) ddistribute=-list prefix EIGRP in Ethernetl/0

An engineer applies a prefix-list filter that filters most of the network 10 prefixes instead of allowing them. Which action resolves the issue?

A. Modify the ip prefix-list EIGRP seq 10 permit 10.0.0.0/8 le 9 command.

B. Modify the command Modify the Ip prefix-list EIGRP seq 10 permit 10.0.0.0/8 le 32 command.

C. Modify the Ip prefix-list EIGRP seq 20 permit 0.0.0.0/0 le 32 command.
D. Modify the ip prefix-list EIGRP seq 20 permit 10.0.0.0/8 ge 9 command

Answer: C

NEW QUESTION 330

- (Exam Topic 3)
Refer to the exhibit.
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LAN: 192.168.1.0/124

| Rl
Hub

RouterlD: 10.10.10.10

L]
1
L]
¥

+Tunnel 100

DMVPN Network
10.255.253.0/24

RouteriD: 1.1.1.1 RouteriD: 2.2.2.2

R2
Spoke 1

LAN: 192.168.2.0/24 LAN; 192.168.3.0/24

reset

rersol

doremn o delached

“Mar 1 17.01:57 783 OSPF Rcv LS UPD from 192 168 1 1 on Tunnel100 length B8 LSA count 1
*Mar 1 17.01.57 155 QSPF Send UPD o 10 255 253 1 on Tunngl 100 length 100 LSA count 2

*Mar 1 171904051 %0OSPF.5-ADJCHG: Process 100, Nbr 1.1.1 1 on Tunnel100 from LOADING 1o FULL, Loading Done
*Mar 117 1906 375 “%0OSPF-5-ADJCHG. Process 100, Nbe 111 1 on Tunnel100 from FULL to DOWN, Nesghbor Down Adsacency forced 1o

*Mar 1171906 627 “0SPF.5-ADJCHG Process 100, Mbr 2 2 2 2 on Tunnel 100 from LOADING to FULL. Loading Done
*Mar 117 19 10123 %05SPF-5-ADJCHG: Process 100 Nbr 2 2 2 2 on Tunnel100 from FULL to DOWN, Neghbor Down Adjacency forced to

"Mar 117 1914 499 %0OSPF-5-ADJCHG Process 100, Nt 10 10 10 10 on Tunnal100 from LOADING 1o FULL, Loading Dona
"Mar 117 1919 139 “0SPF-5-ADJCHG. Process 100, Nbe 10 10.10 10 on Tunng! 100 from EXSTART to DOWN, Neighbor Down Interface

*Mar 1 17.01 51 975 "0SPF-4.NONEIGHBOR . Received dalabase descnplion from unknown neighbor 192 168 1.1

A network administrator sets up an OSPF routing protocol for a DMVPN network on the hub router. Which configuration required to establish a DMVPN tunnel with

multiple spokes?

A. ip ospf network point-to-multipoint on both spoke routers
B. ip ospf network point-to-point on the hub router

C. ip ospf network point-to-multipoint on One spoke router
D. ip ospf network point-to-point on both spoke routers

Answer: A
NEW QUESTION 334

- (Exam Topic 3)
Refer to the exhibit.

Rlish ip route
Codes: L - local, C - connected, S - static, R - RIP, M - mobile, B - BGP
D - EIGRP, EX - EIGRP external, O - OSPF, IA - QSPF inter area
N1 = OSPF NSSA external type 1, N2 - OSPF NSSA external type ?
El - OSPF external type 1, EZ - OSPF external type 2
i - 18-15, su - IS-IS summary, L1 - I1S-IS level-1, LZ - I5-IS level-2
ia - I5-IS inter area, * - candidate default, U - per-user static route
o - ODR, P - periodic downloaded static route, H - NHRP, 1 - LISP
a - application route
t - replicated route, % - next hop override, p - overrides from PfR

Gateway of last resort 1s not set

D 10.0.0.0/8 [%0/409600] via 172.16.1.200, 00:00:28, Ethernet0/0
172.16.0.0/16 is variably subnetted, 2 subnets, 2 masks

C 172.16.1.0/24 is directly connected, Ethernet0/0

L 172.16.1.100/32 is directly connected, Ethernet(/0
192.168.1.0/24 is variably subnetted, 2 subnets, 2 masks

C 192.168,1.0/24 is directly connected, Loophack0

| 142.168.1.100/32 is directly connected, Loopback0

R1§

The R2 loopback interface is advertised with RIP and EIGRP using default values. Which configuration changes make R1 reach the R2 loopback using RIP?

A. R1(config)# router rip R1(config-router)# distance 90

B. R1(config)# router rip R1(config-router)# distance 100

C. R1(config)# router eigrp 1R1(config-router)# distance eigrp 130 120
D. R1(config)# router eigrp 1R1(config-router)# distance eigrp 120 120
Answer: C

Explanation:
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distance (AD Number u want to change to) (neighbor IP) (Wildcard Mask) (access-list number)

NEW QUESTION 337
- (Exam Topic 3)

Routerdabiow ip bgp vpawd rd 1100 1001 10 30 114 023

Fams (% avaidable best ¥ no tabde ]
Advertied 1o updales -groupi
| 2 3
(5001 64955 65001) 65089 (Recerred Fom 2 RR-chent)

Ongn IGPF metne 0 locaipre! 100 vabd conded-nternal
Evtended Commundy RT 1100 1001
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Evtenced Commundy BT 11001001
mpi Wabels nout Rolabed 352
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mph labals N out Rolabed 357
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mpls labals ot nolabel ]} TE

BGP routng tabie eniry fof 1100 1001 10.30.116 07) verson I6T652TS

172 16 254 226 (matic 20645) from 172 16 Y24 236 (172 16 224 236)

172 18 254 226 (mednc 20845) om 172 16 216 253 (172 16 216 753)

172 16 254 226 (matnc 20645) from 172 16 296 252 (172 16.216 252)

T2 v6 254 226 imedric 20085 oo TEXTE 224 2534172 16 224 243

172 16 254 226 (melric 20845) rom 172 18 254 234 (172 16 254 2M4)

172 16 228 226 (metnc 20645) rom 172 16 229 226 (W28 228 126)

Refer to the exhibit. An engineer configured BGP and wants to select the path from 10.77.255.57 as the best path instead of current best path. Which action

resolves the issue?

A. Configure AS_PATH prepend for the desired best path

B. Configure higher MED to select as the best path.

C. Configure lower LOCAL_PREF to select as the best path.
D. Configure AS_PATH prepend for the current best path

Answer: D

NEW QUESTION 341
- (Exam Topic 3)
Refer to the exhibit.
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R5 should not receive any routes originated in the EIGRP domain. Which set of configuration changes removes the EIGRP routes from the R5 routing table to fix

the issue?

A. R4route-map O2R deny 10 match tag 111route-map O2R permit 20!router ripredistribute ospf 1 route-map O2R metric 1
B. R2route-map E20 deny 20 R4route-map O2R deny 10 match tag 111!router ripredistribute ospf 1 route-map O2R metric 1
C. R4route-map O2R permit 10 match tag 111route-map O2R deny 20!router ripredistribute ospf 1 route-map O2R metric 1

D. R4route-map O2R deny 10 match tag 111!router ripredistribute ospf 1 route-map O2R metric 1

Answer: A

Explanation:

In this question, routes from EIGRP domain are redistributed into OSPF (with tag 111) then RIPv2 but without any filtering so R5 learns all routes from both EIGRP
and OSPF domain. If we only want R5 to learn routes from OSPF domain then we must filter out routes with tag 111 and permit other routes. The line “route-map
O2R permit 20” is important to allow other routes because of the implicit deny all at the end of each route-map.

NEW QUESTION 343
- (Exam Topic 3)

Refer to the exhibit. An engineer notices a connectivity problem between routers R1 and R2. The frequency of this problem is high during peak business hours.

Which action resolves the issue?

A. Increase the MTU on the interfaces that connect R1 and R2.

B. Increase the available bandwidth between R1 and R2.

C. Decrease the EIGRP keepallve and hold down timers on R1 and R2.
D. Set static EIGRP neighborship between R1 and R2.

Answer: B

NEW QUESTION 346
- (Exam Topic 3)

The network administrator configured CoPP so that all routing protocol traffic toward the router CPU is limited to 1 mbps. All traffic that exceeds
this limit must be dropped. The router is running BGP and OSPF Management traffic for Telnet and SSH must be limited to 500kbps.

access-list 100 permit tcp any any eq 179 access-list 100 permit tcp any any range 22 23 access-list 100 permit ospf any any

class-map CM-ROUTING match access-group 100

class-map CM-MGMT match access-group 100
|

policy-map PM-COPP class CM-ROUTING
police 1000000 conform-action transmit class CM-MGMT
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police 500000 conform-action transmit

!

control-plane

service-policy output PM-COPP

No traffic is filtering through CoPP,which is resulting in high CPU utilization,which configuration resolves the issue ?

A. no access-list 100access-list 100 permit tcp any any eq 179 access-list 100 permit ospf any anyaccess-list 101 Permit tcp any any range 22 23!class-map CM-
MGMTno match access-group 100 match access-group 101

B. control-planeno service-policy output PM-COPP service-policy input PM-COPP

C. No access-list 100access-list 100 permit tcp any any eq 179access-list 100 permit tcp any any range eq 22 access-list 100 permit tcp any any range eq 23
access-list 100 permit ospf any any

D. no access-list 100access-list 100 permit tcp any any eq 179 access-list 100 permit ospf any anyaccess-list 101 Permit tcp any any range 22 23!class-map CM-
MGMTno match access-group 100 match access-group 101!control-planeno service-policy output PM-COPP service-policy input PM-COPP

Answer: D

NEW QUESTION 348
- (Exam Topic 3)

Intermet

e

Refer to the exhibit. Router R1 peers with two ISPs using static routes to get to the internet. The requirement is that R1 must prefer ISP-A under normal
circumstances and failover to ISP-B if the connectivity to ISP-A is lost. The engineer observes that R1 is load balancing traffic across the two ISPs Which action
resolves the issue by sending traffic to ISP-A only with failover to ISP-B?

A. Configure OSPF between R1. ISP-

B. and ISP-B for dynamic failover if any ISP link to R1 fails

C. Configure two static routes on R1. one pointing to ISP-A and another pointing to ISP- B with 222 admin distance

D. Change the bandwidth of the interface on R1 so that interface to ISP-A has a higher value than the interface to ISP-B

E. Configure two static routes on R1. one pointing to ISP-B with more specific routes and another pointing to ISP-A with summary routes

Answer: D

NEW QUESTION 353
- (Exam Topic 3)
What does the MP-BGP OPEN message contain?

A. MPLS labels and the IP address of the router that receives the message

B. the version number and the AS number to which the router belongs

C. IP routing information and the AS number to which the router belongs

D. NLRI, path attributes, and IP addresses of the sending and receiving routers

Answer: B

NEW QUESTION 358
- (Exam Topic 3)
How is a preshared key "Test” for all the remote VPN rooters configured In a DMVPN using GRE over IPsec set up?

A. authentication pre-share Test address 0.0.0.0 0.0.0.0
B. set pre-share Test address 0.0.0.0 0.0.0.0

C. crypto Ipsec key Test address 0.0.0.0 0.0.0.0

D. crypto isakmp key Test address 0.0.0.0 0.0.0.0

Answer: D

NEW QUESTION 359
- (Exam Topic 3)
Refer to the exhibit.
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Tunnel IP

An engineer must establish multipoint GRE tunnels between hub router R6 and branch routers R1, R2, and R3. Which configuration accomplishes this task on R1?
A)

interface Tunnel 1

ip address 192.168.1.1 255.255.255.0

tunnel source a0/1

tunnel mode gre multipoint

ip nhrp nhs 192.168.1.6

ip nhrp map 192.168.1.6 192.1.10.8
B)

interface Tunnel 1

ip address 192.168.1.1 255.255.255.0
tunnel source e0/1

tunnel mode gre multipoint

ip nhrp network-id 1

ip nhrp nhs 192.168.1.6

ip nhrp map 192.168.1.6 192.1.10.1
ip nhrp map 192.168.1.2 192.1.20.2
ip nhrp map 192.168.1.3 192.1.30.3
C)

interface Tunnel 1

ip address 192.168.1.1 255.255.255.0
tunnel source e0/0

tunnel mode gre multipoint

ip nhrp nhs 192.168.1.6

ip nhrp map 192.168.1.6 192.1.10.1

ip nhrp map 192.168.1.2 192.1.20.2

ip nhrp map 192.168.1.3 192.1.30.3

D)

interface Tunnel 1

ip address 192.168.1.1 255.255.255.0
tunnel source e0/0

tunnel mode gre multipoint

ip nhrp network-id 1

ip nhrp nhs 192.168.1.6

ip nhrp map 192.168.1.6 192.1.10.8

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D
Explanation:

We have an example of how to configure DMVPN Phase Il and we show the configuration here for your reference:
Diagram Description automatically generated

HeadQuarter
-q.——
ﬂ Tunne! address
192.168.100. 254
NEMA address
dd 44 44 4

Tunnal acdrass
192.168.100.2

NBMA address

o

Tunnal sddross
192.168.100.1

NBMA address
11.11.111

DMVPN Phase Il — Dynamic Mapping
Text Description automatically generated
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Hub

interface tunnel 1

ip address 192.168.100,254
255.255.255.0

tunnel source 44.44.44.4
tunnel mode gre multipoint
ip nhrp network 10

Spoke 1

interface tunnel 1

ip address 192.168.100.1
255.255.255.0

tunnel source 11.11.11.1
tunnel mode gre multipoint

ip nhrp network 10

ip nhrp map 192.168.100.254
44.44.44.4

ip nhrp nhs 192.168.100.254

Spoke 2

interface tunnel 1

ip address 192,168.100.2
255.255.255.0

tunnel source 12.12.12.2
tunnel mode gre multipoint

ip nhrp network 10

ip nhrp map 192.168.100.254
44.44.44.4

ip nhrp nhs 192.168.100.254

Note: Although Phase Il — Dynamic Mapping is “dynamic” but we still need to add a static entry for the hub because without that entry, the NHRP registration
cannot be sent.

NEW QUESTION 364
- (Exam Topic 3)
Refer to the exhibit.

ip prefix-list DMZ-STATIC seq 5 permit 10.1.1.0/24
I
route-map DMZ permit 10
match ip addresss prefix-list DMZ-STATIC
!
router ospf 1
network 0.0.0.0 0.0.0.0 area 0
redistribute static route-map DMZ
|

ip route 10.1.1.0 255.255.255.0 10.20.20.1

The static route is not present in the routing table of an adjacent OSPF neighbor router. Which action resolves the issue?

A. Configure the next hop of 10.20.20.1 in the prefix list DMZ-STATIC

B. Configure the next-hop interface at the end of the static router for it to get redistributed
C. Configure a permit 20 statement to the route map to redistribute the static route

D. Configure the subnets keyword in the redistribution command

Answer: D
NEW QUESTION 366

- (Exam Topic 3)
Refer to the exhibit.

pif shew ip aspd datsbase reutas L5 10 307 169
CEPF Reutar with IB £10.10.204 284) (FyoCesa ID 1200
Routear Liek States (Rres O)
Lind compecied to & Dhub sakwerk
MLisk T Mebwerk/ sulest ussar 1932 160 4 0
[LLiRkF Da®sl matworl Mask I35 2% 353.0
wunbaz of TOf metilca: 9

TN 0 Mmteles
Link oonmected L« A fiul MelwoEl
Lisk iT g rwe rhf wabea® numbes 10 o1 LER
ipink Satal Mebwark Wisk- 253 J03 I5% dhd
piumbar a9 TOL maizlcs @
TUE T ET LT 3
AN) shaw Ap ITVi® i0 10 302 1sA
Boatlng - r L&l L r -r-'r':?-"
Foowh T18 atats AT SIS Fam 0
P tifeg D@BGEAPLOE Reochl

-
b e . B

';'w 10094034

A network engineer finds that PC1 is accessing the hotel website to do the booking but fails to make payment. Which action resolves the issue?

A. Allow stub network 10.10.202.168/30 on router R3 OSPF.
B. Decrease the AD to 5 OSPF route 192.168.94.0 on R1.

C. Increase the AD to 200 of static route 192.168.94.0 on R3.
D. Configure a reverse route on R1 for PC1 172.16.1.0/24.
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Answer: A

NEW QUESTION 368
- (Exam Topic 3)

HQ Branch

FOO OSPF 100 ISP (config)# ip vrf EA

ISP (config-vrf)# ip vrf EB

172 16 100 024 172 16.200 0°24
ISP (config-if) ¥ router ospf 100 vrf EA

ISP(config-router)# net 172.16.100.0 0.0.0.255 area 0
I5P {config=router)d net 172.16.200.0 0.0.0.255 area 0

ISP (config-router)§ exit

I15P (config=1if)# router ospf 200 vrf EB
Branch ) 18P(config-router)# net 172.16.100.0 0.0.0.255 area 0
' 15P (config-router)# net 172.16.200.0 0.0.0.255 area 0
ISP (config-router)# end

172 16 100 024

172 16 200 0724

Fou OSPF 200 FO0

Refer to the exhibit. A network engineer is provisioning end-to-end traffic service for two different enterprise networks with these requirements
> The OSPF process must differ between customers on HQ and Branch office routers, and adjacencies should come up instantly.

> The enterprise networks are connected with overlapping networks between HO and a branch office Which configuration meets the requirements for a customer
site?
A)

ISP{config sint 130

ISP config-f)=ip vrf forwarding EA
ISP{config-fndescription TO>EA2_Branch

ISP (config-f)zip address 172.16.200.2 255.255.255.0
ISP(config-#)#no shut

B)

ISP(configimint 12/0

ISP(config-f)#ip vl forwarding EA

ISP(config-f j=description TO>EA1_HQ
ISP(config-)#ip address 172.16.100.2 255.255.255.0
ISP(config-fiZno shut
C)

ISP{config-viTi#int 10/0

ISP(config-f=p vrf forwarding EB
ISP|config-1)sdescription TO>EB1_HQ
ISP(config-)#ip add 172.16.100.2 255.255.255.0
ISP{config-#)=no shut

D)

ISP{config-fizint 11/0

ISP{config-fi=ip vrf forwarding EA
ISP(config-Nadescription TOS>EA2_Branch
ISPiconfig-=ip add 172.16.200.2 255.255.255.0
ISP|{config-f)wno shut

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 369
- (Exam Topic 3)
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Lo

BRIy & R4

interface Ethernetd/l

i Acceii-graup DOOS i

1

ip acoess-hil entended DDOS

permit Kp any 3y

dafry wdp any any fange 1004 65535
permit ip any any

R1#sh NMow interface
letirlsgw Ethernat0/0

FHF. maonitor Flow Mcnitor]
duection IFpist
wathic{ip). on

FNF: monitir; Flow Monitor ]
dwection.  Quiput
wathie(ip) o

Intetface EthernetD/f]

FNF: manitor, Flow Micnitor 1
dwagtion Input
irafficlp):  on

FNF: mamiter Flow Menitor ]
diwection Output
trathefpl on

ri

Rimshew llaw eaporter
Flow Evporter FlowExporier]:

Descraptson:
Exporn protocol:

User dofingd
MotFlow Version §

Trandport Conligiaraten:
Destination IP address: 1066.65.66

Sounte P addreds 100111
Trarapart Pretocol:  UDP
Destanation Part: 1080
Sotange Port; H4186
DACH Oy

1T 55

Oulput Featurws:  Not Used

Loopbak 0:10.10.10.1

Pramary bk

[ R1msbow flow montor
Flowe Monitor FlowMonitior]:
Description.  User delned
Plow Record:  netflow ipwd oniganal-input
Floewi Exporter.  Howlaporter]
Cache:

Status dllpcated

Lire 0% entries [ 144083 bytes
Inactive Temeowt: 15 secy

Active Timeout: 1800 sees

Update Timeout
Synchromeed Timeout: 600 toct

Type: Aot |

1600 secs ‘

Refer to the exhibit An engineer configured NetFlow but cannot receive the flows from R1 Which two configurations resolve the issue? (Choose two )

A)

R1(config)#flow exporter FlowExporter1
R1(config-flow-exporter)¥destination 10.66.60.66

B)

R4(config )2ip access-list extended DDOS
R4(config-ext-nacl)#5 permit udp any host 10.66.66.66 eq 1090

C)

R3(config)#flow exporter FlowExporter1

R3(config-flow-exporter=destination 10.66.66.66

D)

R3(config)#ip access-list extended DDOS
R3(config-ext-nacl)*6 permit udp any host 10.66.66.66 eq 1090

E)

R4(config #flow exporter FlowExporter1
R4(config-flow-exporter)zdestination 10.66.66.66

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: BE

NEW QUESTION 371
- (Exam Topic 3)
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192.168.1.1 192.168.1.2

GO/ GO
R1 @ R2

Gon

10.15.1.100

R1#

fJan 15 19:45:17.027: TPLUS: Quouing AAA Authentication requast 20 for
processing

*Jan 15 19:45:17.031: TPLUS: processing authentication start request id 20
#Jan 15 19:45:17.031: TPLUS: Authentication start packet created for 20()
#Jan 15 19:45:17.031: TPLUS: Using server 172.20.32.1

*Jan 15 19:45:17.035: TPLUS(00000014) /O/NB WALIT/68937BB0: Started 5 sec
timeout

tJan 15 19:45:22.035: TPLUS(00000014) /O/NB WAIT/68937TBR0: timed out

*Jan 15 19:45:22.035: TPLUS(00000014) /O/NB WAIT/68337BB0: timed out, clean
up

*Jan 15 19:45:22.035%; TPLUS(00000014) /0/6893TBRO: Processing Lhe reply
paacikn t

RW
A2ftolnat 192.168.1.1
Trying 192.1668.1.1 ... Opaen

¥ Authorizatlon falled,
[Connection to 192.168.1.1 closed by foreign host]

Refer to the exhibit A network engineer is troubleshooting an AAA authentication issue for R1 from R2 When an engineer tries to open a telnet connection to R1 it
opens the connection but shows a %Authorization failed error message on the terminal and closes the connection silently Which action resolves the issue?

A. Resolve tacacs+ server host IP authentication miss configuration on the R1 router
B. Resolve tacacs+ server reachability from the R1 router.

C. Configure the tacacs+ server host IP on the R1 router

D. Configure authorization commands in the tacacs* server for the R1 router.

Answer: D

NEW QUESTION 375
- (Exam Topic 3)

Rlé#show time-range

time-range entry: timer (active)
periodic weekend 9:00 to 17:00
used in: IP ACL entry
used in: IP ACL entry

Rléshow ip access-list interface gig0/0

Extended IP access list NO Internet in
10 deny tcp any any eq www time-range timer (active)
20 deny tcp any any eq 443 time-range timer (active)
30 permit ip any any
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o
ot
-

Refer to the exhibit. Users on a call center report that they cannot browse the internet on Saturdays during the afternoon. Which configuration resolves the issue?

A)

interface gig0/0
ip access-group NO_Internet out
B)
ip access-list extended NO_Internet
15 permit tcp any any eq www
C)
no time-range timer
D)
time-range timer
no periodic weekend 9:00 to 17:00
periodic weekend 17:00 to 23:59

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 379
- (Exam Topic 3)

The network administrator configured the router for Control Plane Policrg so that inbound SSH traffic is policed to 500 kbps This policy must apply to traffic coming

in from 101010 0<24 and 192 168 10.0/24 networks

access-list 100 permit ip 10.10.10.0 0.0.0.255 any
access-ist 100 permit tcp 192,163,100 0.0,0.253 any eq 22
1

class-map CLASS-55H
match access-group 100
1
pelicy-map PM-COPP
class CLASS-55H
police 500000 conform-action transmit
!
Interface END
service-policy input PM-COPP

|
Interface EO/M
service-policy input PM-COPP

The Control Rane Policing is not applied to SSH traffic and SSH is open to use any bandwidth available. Which configuration resolves this issue?
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no access-list 100

access-list 100 permit tep 10.10.10.0 0.0.0.255 any eg 22
access-list 100 permit tep 192.168.10.0 0.0.0.265 any eq 22
1

palicy-map PM-COPP

class CLASS-55H

no police S00000 conform-action transmit

police 500000 conform-action transmit exceed-action drop

interface EONO
no service=policy input PM-COPP
[]

interface EO/1
no service=policy input PM-COPP
]

contrel-plane
service-policy input PM-COPP

no access-list 100
access-list 100 permit tep 10.10.10.0 0.0.0.255 any eq 22
access-list 100 permit tcp 192.168.10.0 0.0.0.255 any eq 22
|

Interface EQ/O

no service-policy input PM-COPP

1

Interface EO/1
no service-policy input PM-COPP
1

control-plane
service-policy input PM-COPP

no access-list 100
access-list 100 permit tcp 10.10.10.0 0.0.0.255 any eq 22
access-list 100 permit tcp 192.168.10.0 0.0.0.255 any eq 22

A)

no access-list 100

access-list 100 permit tcp 10.10.10.0 0.0.0.255 any eq 22
access-list 100 permit tep 192.168.10.0 0.0.0.255 any eq 22
[

policy-map PM-COPP

class CLASS-SSH

no police 500000 conform-action transmit

police S00000 conform-action transmit exceed-action drop

B)

interface EQ/O
no service-policy input PM-COPP
1

interface EO0/1
no service-policy input PM-COPP
1

control-plane
service-policy input PM-COPP

C)
no access-list 100

access-list 100 permit tep 10.10.10.0 0.0.0.2556 any eq 22
access-list 100 permit tcp 192.168.10.0 0.0.0.255 any eq 22
[|

inteﬁace EO0O
no service-policy input PM-COPP
1

inteﬂace EO/1
no service-policy input PM-COPP
[}

;:ontrol-prane

service-policy input PM-COPP
D)

no access-list 100

access-list 100 permit tcp 10.10.10.0 0.0.0.255 any eq 22
access-list 100 permittcp 192.168.10.0 0.0.0.255 any eq 22

A. Option
B. Option
C. Option
D. Option

Answer: C

NEW QUESTION 383
- (Exam Topic 3)
An engineer creates a Cisco DNA Center cluster with three nodes, but all the services are running on one host node. Which action resolves this issue?

A. Restore the link on the switch interface that is connected to a cluster link on the Cisco DNA Center
B. Click the master host node with all the services and select services to be moved to other hosts

C. Enable service distribution from the Systems 360 page.

D. Click system updates, and upgrade to the latest version of Cisco DNA Center.
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Answer: C

Explanation:

To deploy Cisco DNA Center on a three-node cluster with High Availability (HA) enabled, complete the following procedure:

Step 1: Configure Cisco DNA Center on the first node in your cluster...

Step 2: Configure Cisco DNA Center on the second node in your cluster... Step 3: Configure Cisco DNA Center on the third node in your cluster... Step 4: Enable

high availability on your cluster:

* a. In the Cisco DNA Center GUI, click and choose System Settings. The System 360 tab is displayed

by default.
* b. In the Hosts area, click Enable Service Distribution.

After you click Enable Service Distribution, Cisco DNA Center enters into maintenance mode. In this mode, Cisco DNA Center is unavailable until the redistribution

of services is completed. You should take this into account when scheduling an HA deployment.
Reference: https://www.cisco.com/c/en/us/td/docs/cloud-systems-management/network-automationand- management/dna-

center/1-3-3-0/ha_guide/b_cisco_dna_center_ha_guide_1_3 3 0.html

Therefore we can choose “Enable Service Distribution” to distribute services to other host nodes.

NEW QUESTION 388
- (Exam Topic 3)
What is an MPLS LDP targeted session?

A. session between neighbors that are connected no more than one hop away
B. LDP session established between LSRs by exchanging TCP hello packets
C. label distribution session between non-directly connected neighbors

D. LDP session established by exchanging multicast hello packets

Answer: C

NEW QUESTION 391
- (Exam Topic 3)

R2&chow polcy-map control-plana
Control Plano
Service-pohcy inpul. CoPP
Class-map SSH {match-all)
29 packels, 2215 byles
5 minute offered rate 0000 bps
Match access-group 100

Class-map: ANY (match-all)
46 packets, 3878 bytes
5 minute offered rate 0000 bps, drop rate 0000 bps
Malch' access-group 199
drop

Class-map class-default (malch-any)
41 packels, 5587 byles
5 minute offered rate 0000 bps, drop rate 0000 bps
Match: any

R28show access-list 100
Extended IP access list 100
10 deny icp any any eq 22 (14 maicheas)
20 permit tcp host 192 168,12 1 any eq 22 (29 matches)
R2ushow access-lisl 199
Extended IF access hist 159
10 parmit ip any any (51 matchas)

Refer to the exhibit. Which action limits the access to R2 from 192.168.12.17

A. Swap sequence 10 with sequence 20 in access-list 100.

B. Modify sequence 20 to permit tcp host 192.168.12.1 eq 22 any to access-list 100
C. Swap sequence 20 with sequence 10 in access-list 100

D. Modify sequence 10 to deny tcp any eq 22 any to access-list 100.

Answer: C

NEW QUESTION 392
- (Exam Topic 3)

a 4 2 - . BT W T
LT i o= . - ¥ s . T | - - =

Refer to the exhibit Which action resolves the issue?
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A. Configure host IP address in access-list 16
B. Configure SNMPv3 on the router

C. Configure SNMP authentication on the router
D. Configure a valid SNMP community string

Answer: D
NEW QUESTION 395

- (Exam Topic 3)
Refer to the exhibit.

nfig)e linc 0
E(config ne) 4 no axec
FE(config-line)¢ and

PEd axict

An administrator is attempting to disable the automatic logout after a period of inactivity. After logging out the console stopped responding to all keyword inputs.
Remote access through SSH still work resolves the issue?

A. Configure the exec command on line con 0.

B. Configure the absolute-timeout command on line con 0.

C. Configure the default exec-timeout command on line con 0.
D. Configure the no exec-timeout command on line con O.

Answer: D

NEW QUESTION 396
- (Exam Topic 3)

R1#show bgp ipv6 unicast 2001:db8::1/128
BGP routing table entry for 2001:db8::1/128, version 3
Paths: (1 available, best #1, table Global-IPv6-Table)
Not advertised to any peer
Local
2001:db8:33:33::33 (metric 128) from 2001:db8:11:11::11 (1.1.1.1)
Origin IGP, metric 0, localpref 100, valid, internal, best
Onginator: 3.3.3.3, Cluster list: 1.1.1.1

Refer to the exhibit. An engineer examines the BGP update for the IPv6 prefix 2001:db8::1/128. which should have been summarized into a /64 prefix. Which
sequence of actions achieves the summarization?

A. R1is a route reflector client of a RR with a router ID of 1.1.1.1. and the originator of the prefix has a router ID of 3.3.3.3. Both routers belong to different AS

B. The prefix is not advertised to any peer and must be advertised using the network statement on R3.

C. R1 is a route reflector with a router ID of 3.3.3.3. and the originator of the prefix is a route reflectorclient, which has a router ID of 3.3.3.3. Both routers belong to
the same AS Configure an aggregate address on the router with ID 1.1.1.1 for the prefix

D. R1 is a route reflector with a router ID of 1.111. and the originator of the prefix is a route reflector client, which has a router ID of 3.3.3.3. Both routers belong to
the same AS Configure an aggregate address on the router with ID 1.1.1.1 for the prefix

E. R1is a route reflector client of a RR with a router ID of 1.1.1.1. and the originator of the prefix has a router ID of 3.3.3.3. Both routers belong to the same A

F. Configure an aggregate address on the router with ID 3 3.3.3 for the prefix.

Answer: D

NEW QUESTION 398
- (Exam Topic 3)
Refer to the exhibit.
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20

R2 R5
. Areal Area () ....Area2
=
80 | a

§R1e 20 40

R6 should reach R1 via R5>R2>R1. Which action resolves the issue?
A. Increase the cost to 61 between R2-R3-R1

B. Increase the cost to 61 between R2 and R3

C. Decrease the cost to 2 between R6-R5-R2

D. Decrease the cost to 41 between R2 and R1

Answer: B

NEW QUESTION 402

- (Exam Topic 3)
Drag and drop the ICMPv6 neighbor discovery messages from the left onto the correct packet types on the right.
'Jl-;l‘nﬂ-— SRIITESEGR IOl Ty =2 ] 134
Msighbon Adwert isement 0Pl Type 137
Houter Advarthemant CNPvE Type LIS
Redwect Message [CMP vl Type 133
Eayter Sl 10 ICNPel Typs 138

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Table Description automatically generated with medium confidence

NEW QUESTION 403
- (Exam Topic 3)

CPE# show ip route static

<output omitted>

S* 0.0.0.0/0 is directly connected, Dialer0
S 198.51.100.0/24 [1/0] via 192.168.1.1
S 203.0.113.0/24 [1/0] via 192.168.2.1

CPE# show run | section router ospf

router ospf 1
redistribute static subnets
D
CPE# show ip ospf database | begin Type-5
Type-5 AS External Link States

Link ID ADV Router Age Seq# Checksum Tag
198.51.100.0 192.168.0.1 14 0x80000001 0x0007D0 O
203.0.113.0 192.168.0.1 14 0x80000001 0x008C5C O

Refer to the exhibit. The default route is not advertised to the neighboring router. Which action resolves the issue?
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A. Configure the redistribute static metric 200 subnets command under OSPF.

B. Configure OSPF on the Dialer0 interface.

C. Configure the network 0.0.0.0 255.255.255.255 area 0 command under OSPF.
D. Configure the default-information originate command under OSPF.

Answer: D
NEW QUESTION 405

- (Exam Topic 3)
Refer to the exhibit.

192.168.130.0/24

Which policy configuration on R1 forwards any traffic that is sourced from the 192 168 130 024 network to R2?
A)

access-list 1 permit 192.168.130.0 0.0.0.255
1

interface Gi0/2
ip policy route-map test
1

;'nute-map test permit 10
match ip address 1
set ip next-hop 172.20.20.1

B)

access-list 1 permit 192.168.130.0 0.0.0.255
1

intlrfaf:t Gi0/M1
ip policy route-map test
|

;'ou'lt-map test permit 10
match ip address 1
set ip next-hop 172.20.40.1

C)
access-list 1 permit 192.168.130.0 0.0.0.255
|

inttrlact Gi0/2
ip policy route-map test
|

}omemap test permit 10
match ip address 1

set ip next-hop 172.20.20.2
D)

access-list 1 permit 192.168.130.0 0.0.0.255
!

interface Gi0/1
ip policy route map test
|

foutt-m:p test permit 10
match ip address 1
set ip next-hop 172.20.40.2

A. Option A
B. Option B
C. Option C
D. Option D
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Answer: B

NEW QUESTION 408
- (Exam Topic 3)
Refer to the exhibit.
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An engineer implemented CoPP but did not see OSPF traffic going through it. Which configuration resolves the issue?

A. ip access-list extended OSPF permit ospf any any

B. policy-map COPP class OSFP police 8000 conform-action transmit exceed-action transmit violate-action drop

C. control-plane service-policy input COPP

D. class-map match-all OSFP match access-group name OSPF

Answer: B

NEW QUESTION 411
- (Exam Topic 3)

f

Ir AREA 0
10.111.7.0029|
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Refer to the exhibit. Router R4 is configured correctly with default OSPF values. A network engineer configured R7 for OSPF. R7 must not be elected as a DR for

the segment between R4-R7. The adjacency between R4 and R7 failed to form. Which configuration resolves the issue?
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R7(config)#interface fa0/0
R7(config-if)#ip ospf priority 255
R7(config-if)#ip ospf hello-interval 10
R7(config-if )#ip ospf dead-interval 30
R7({config-if)#ip ospf network broadcast

R7(config #interface fa0/0

R7(config-f )#ip ospf priority 0
R7{config-if}#ip ospf hello-interval 10
R7{config-if)#ip ospf dead-interval 30
R7(config-if)#ip ospf network non-broadcast

R7(config #interface fa0/0
R7{config-if )#ip ospf priority 0
RT7(config-if)#ip ospf hello-interval 10
R7(config-if)#ip ospf dead-interval 40
R7(config-if#ip ospf network broadcast

R7{config#interface fa0/0

R7{config-ify#tip ospf priority 255
R7({config-if)#ip ospf hello-interval 10
R7(config-f#ip ospf dead-interval 40
R7(config-if #ip ospf network non-broadcast

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C
NEW QUESTION 416

- (Exam Topic 3)
Refer to the exhibit.

(config) #ip prefix-list EIGRP seq 10 deny 0.0.0.0/0 le 32

(config) #ip prefix-list EIGRP seq 20 permit 10.0.0.0/8
(config) ¢router eigrp 10

Il (config-router) #distribute-list prefix EIGRP in Ethernet0/0

E
R1
Rl
F.

Flé#éshow ip route eigrp

A prefix list is created to filter routes inbound to an EIGRP process except for network 10 prefixes After the prefix list is applied no network 10 prefixes are visible in

the routing table from EIGRP. Which configuration resolves the issue?

A. ip prefix-list EIGRP seq 20 permit 10.0.0.0/8 ge 9.

B. ip prefix-list EIGRP seq 10 permit 0.0.0.0/0 le 32

C. ip prefix-list EIGRP seq 5 permit 10.0.0.0/8 ge 9 no ip prefix-list EIGRP seq 20 permit 10.0.0.0/8
D. ip prefix-list EIGRP seq 20 permit 10.0.0.0/8 ge 9 ip prefix-list EIGRP seq 10 permit 0.0.0.0/0 le 32

Answer: C

NEW QUESTION 420
- (Exam Topic 3)
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AS 1000
(.10) /w2 (.10)
\

Internet Cloud

192.168.101.0/24

AS 100 {.1}_{/

‘H ]
ISP-1 ,r:

DN\

192.168.11.0/24

gﬁ 68.102.0/24

N (2) AS 200

A
"3y

/(2

192.168.12.0/24

ISP-2

0o o A
(111) RS (1)

AS 111
= N EOM

Customer Edge

ISP-1

ip as-path access-list 1
!

router bop 100

neighber 192.168.101.10
neighbor 192.168.11.111
neighbor 192.168.11.111

permit “1l1l1l

remgte-as 1000
reméte-as 111
filter-1list 1 in

Refer to the exhibit. AS 111 mut not be used as a transit AS, but ISP-1 is getting ISP-2 routes from AS 111. Which configuration stops Customer AS from being

used as a transit path on ISP-1?

A. ip as-path access-list 1 permit *$

B. ip as-path access-list 1 permit_111

C. ip as-path access-list 1 permit.”

D. ip as-path access-list 1 permit ~111$

Answer: A

NEW QUESTION 425
- (Exam Topic 2)

How are MPLS Layer 3 VPN services deployed?

A. The RD and RT values must match under the VRR

B. The RD and RT values under a VRF must match on the remote PE router

C. The import and export RT values under a VRF must always be the same.

D. The label switch path must be available between the local and remote PE routers.

Answer: D

Explanation:

https://www.cisco.com/c/en/us/td/docs/iosxr/ncs5500/vpn/65x/b-I3vpn-cg-ncs5500-65x/b-13vpn-cg-ncs5500-65 The ingress PE router must be able to reach the
egress PE router for a packet to be relayed to its destination.

NEW QUESTION 428
- (Exam Topic 2)
Refer to the exhibit.

R1# debug eigrp packets

EIGRP AS 100 Slf-‘\REFLT:I
EIGRP Packet debugging is on
10.1.1.1/30 10.1.1.2/30 RA#
o~ ﬁ EIGRP: Sending HELLO on Gi0/0 - paklen 20
Ge0l0  GeON AS 100, Flags 0x0:(NULL), Seq 0/0 interfaceQ 0/0
R1 R2  liidbQ unirely 0/0

R1#

iidbQ un/rely 0/0

(UPDATE, REQUEST, QUERY, REPLY, HELLO,
UNKNOWN, PROBE, ACK, STUB, SIAQUERY,

EIGRP: Sending HELLO on Gi0/0 - paklen 20
AS 100, Flags 0x0:(NULL), Seq 0/0 interface@ 0/0

Which action resolves the adjacency issue?
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A. Match the hello interval timers.

B. Configure the same EIGRP process IDs.

C. Match the authentication keys.

D. Configure the same autonomous system numbers.

Answer: D

Explanation:

EIGRP does not have process ID as it uses Autonomous System (AS) numbers only. This is not an authentication problem or we would see this error from the

debug:

EIGRP: Ethernet0/0: ignored packet from 10.1.1.3, opcode = 1 (missing authentication or key-chain missing) If the AS numbers between two routers are different

then the neighbor relationship cannot be formed.

NEW QUESTION 431
- (Exam Topic 2)
Refer to the exhibit.

192.168.0.1 /24

Physical. 172.17.0.1 % -~
Tunn?I;_TU.O.G.1 HUB - . Fa0/0

rd r‘ L
4 ’ b

I.l"
l
\ i .
Physical: 172.17.02 *
Tunnel: 10.0.0.11

%,

s,

L]
b !

Fa0/0 Fa0/0 ™,
Spoke A Spoke

: x_,_% _ ._/_u__

4

Physical: 172.17.0.3

Tunnel: 10.0.0.12
[

192.168.1.1 /24 192.168.2.1 /24

Which interface configuration must be configured on the HUB router to enable MVPN with mGRE mode?

interface Tunnel0

description mGRE - DMVPN Tunnel
ip address 10.1.0.1 255.255.255.0

ip nhrp map multicast dynamic

ip nhrp network-id 1

tunnel source 172.17.0.1

ip nhrp map 10.0.0.11 172.17.0.2

ip nhrp map 10.0.0.12 172.17.03
tunnel mode gre

interface Tunnel0

description mGRE - DMVPN Tunnel
ip address 10.0.0.1 266.2556.255.0

ip nhrp map multicast dynamic

ip nhrp network-id 1

tunnel seurce 10.0.0.1

tunnel mode gre multipeint

interface Tunnel0

description mGRE - DMVPN Tunnel
ip address 10.0.0.1 25§.255.256.0

ip nhrp network-id 1

tunnel source 172.17.0.1

tunnel mede gre multipoint

interface Tunn<i

description mGRE - DMVPN Tunnel
Ip address 10.0.0.1 255.285 265.0

ip nhrp map multicast dynamic

ip nhrp network-id 1

tunnel source 10.0.0.1

tunnel destination 172.17.02
tunnel mode gre multipeint

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C
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Explanation:
https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/sec_conn_dmvpn/configuration/15-mt/sec-conn-dmvpn-15-m

NEW QUESTION 432

- (Exam Topic 2)

Drag and drop the actions from the left into the correct order on the right to configure a policy to avoid following packet forwarding based on the normal routing
path.

| r.'.q-..‘.n.-?J;q..'..-‘.- a0 mstande fep 1

T . P

Configure PER on i

A. Mastered
B. Not Mastered

Answer: A
Explanation:

https://community.cisco.com/t5/networking-documents/how-to-configure-pbr/ta-p/3122774

NEW QUESTION 436
- (Exam Topic 3)

Ri#show ip rip database
100.00/8 auto-summary
10.1.1.0/24 directly connected, GigabitEthernet0/0
101.3.0/24

[2] via 10 1.12.2, 00:00:03, GigabitEthermnet1/0
10.1.12.0/24 direcily connecied, GigabitEthemet1/0
10.1.23 0/24

[1)wia 10.1.12.2, 00.00:03, GigabitEthernet1/0

Refer to the exhibit. A customer reports that networks in the 10.0.1.0/24 space do not appear in the RIP database. What action resolves the issue?

A. Remove summarization of 10.0.0.078.

B. Permit 10.0.1.0/24 address in the ACL.

C. Remove ACL on R1 blocking 10.0.1.0/24 network.
D. Configure 10.0.1.0/24 network under RIP.

Answer: A

NEW QUESTION 437

- (Exam Topic 3)

A customer is running an mGRE DMVPN tunnel over WAN infrastructure between hub and spoke sites. The existing configuration allows NHRP to add spoke
routers automatically to the multicast NHRP mappings. The customer is migrated the network from IPv4 to the IPv6 addressing scheme for those spokes’ routers
that support IPv6 and can run DMVPN tunnel over the IPv6 network. Which configuration must be applied to support IPv4 and IPv6 DMVPN tunnel on spoke
routers?

A. Tunnel mode ipv6ip 6to4

B. Tunnel mode ipv6ip isatap

C. Tunnel mode ipv6ip auto-tunnel
D. Tunnel mode ipv6ip 6rd
Answer: C

NEW QUESTION 438
- (Exam Topic 2)
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ip prefix-list DefaultRouteOnly seq 5 deny 0.0.0.0/0 le 32
ip prefix-list DefaultRouteOnly seq 10 permit 0.0.0.0/0

router eigrp ccnp

address-family ipv4 unicast autonomous-system 1
topology base
distribute-list prefix DefaultRouteOnly out Tunnel0

Refer to the exhibit. The administrator configured route advertisement to a remote low resources router to use only the default route to reach any network but

failed. Which action resolves this issue?

A. Change the direction of the distribute-list command from out to in.
B. Remove the line with the sequence number 5 from the prefix list.
C. Remove the prefix keyword from the distribute-list command.

D. Remove the line with the sequence number 10 from the prefix list.

Answer: B
NEW QUESTION 441

- (Exam Topic 2)
Refer to the exhibit.

router# show running-config
Building configuration
|

<output omitted —--1>
I

hostname R1
i

Ip domain-name cisco com
|

crypto key generate rsa modulus 2048

|

username admin privilege 15 secret cisco123
I

access-list 1 permit 10110000 255

access-list 1 deny any log
[

hne vty 0 15
access-class 1.1n

login local
I

<putput omitted —-1>
|

end

A user cannot SSH to the router. What action must be taken to resolve this issue?

A. Configure transport input ssh

B. Configure transport output ssh

C. Configure ip ssh version 2

D. Configure ip ssh source-interface loopback0

Answer: A
Explanation:

https://www.cisco.com/c/en/us/td/docs/switches/lan/catalyst2960x/software/15-0_2_EX/security/configuration_

NEW QUESTION 443
- (Exam Topic 2)
Refer to the exhibit.
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Control Plane

police:

transmit

drop

Match: any

R1#show policy-map control-plane

Service-policy output: CoPP

Class-map: SNMP-Out (match-all)
124 packets, 3693 bytes
5 minute offered rate 0000 bps, drop rate 0000 bps
Match: access-group name SNMP

cir 8000 bps, bc 1500 bytes
conformed 0 packets, 0 bytes; actions:

exceeded 0 packets, 0 bytes; actions:

conformed 0000 bps, exceeded 0000 bps

Class-map: class-default (match-any)
10 packets, 1003 bytes
5 minute offered rate 0000 bps, drop rate 0000 bps

R1#show ip access-list SNMP
Extended IP access list SNMP
10 permit udp any eq snmp any

R1 is being monitored using SNMP and monitoring devices are getting only partial information. What action should be taken to resolve this issue?

A. Modify the CoPP policy to increase the configured exceeded limit for SNMP.
B. Modify the access list to include snmptrap.

C. Modify the CoPP policy to increase the configured CIR limit for SNMP.

D. Modify the access list to add a second line to allow udp any any eq snmp

Answer: D

NEW QUESTION 446
- (Exam Topic 2)

Drag and drop the LDP features from the left onto the descriptions on the right

IMPHCE nubl

LT
L=
[} ]

provides ways of improving load balancing by elminating the
need for DPI at transit LSRs

axplicit null label

LSR recenves an MPLS header with the label set to 3

inbound label binding filtering

packet is encapsulsted in MPLS with the option of
copymng the IP precedence to EXP bits

entrooy labe

controls the amount of memory used to store LDP Iabel bindings
advertised Dy other devices

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Diagram Description automatically generated

The MPLS LDP Inbound Label Binding Filtering feature can be used to control the amount of memory used to store Label Distribution Protocol (LDP) label
bindings advertised by other devices. For example, in a simple Multiprotocol Label Switching (MPLS) Virtual Private Network (VPN) environment, the VPN provider
edge (PE) devices might require label switched paths (LSPs) only to their peer PE devices (that is, they do not need LSPs to core devices). Inbound label binding
filtering enables a PE device to accept labels only from other PE devices.

Reference:

https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/mp_ldp/configuration/15-sy/mp-ldp-15-sy-boo k/mp-ldp-inbound-filtr.html

NEW QUESTION 448
- (Exam Topic 2)
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99.3.0.1

Internet
99.3.5 2 /

ip route 0.0.0.0 0.0.0.0 99.3.5.1

R2

10.100.1.0/24

10.150.1.0/24
Aread

Refer to the exhibit. A network administrator redistributed the default static route into OSPF toward all internal routers to reach to Internet. Which set of commands

restores reachability to the Internet by internal routers?

A. router ospf 1default-information originate
B. router ospf 1network 0.0.0.0 0.0.0.0 area 0
C. router ospf lredistribute connected 0.0.0.0
D. router ospf 1redistribute static subnets

Answer: A

NEW QUESTION 451
- (Exam Topic 2)
Refer to the exhibit.

HMASS-RTRéshow rmunning-config

]

hostnama MASE-RTH

I

daa new-model

]

aaa authantication login default local

aaa authorlzallon exec default local

aaa aothorization commands 15 default local

]

username admin privilege 15 password 7 0236244818115F3348
username cisco privilege 15 password 7 060707T2C494A5B
archive

log config
logging enabla
logging size 1000

'

interface GigabitEthernetd/0
ip address dhcp
duplex auto
spaed auto

!

line vty 0 4
y

MASS-RTR#show archive log config all

idx sess userfiline Logged command
consoleficonsole |interface GigabitEthernetd/o0
congalaliconsol a | no shutdown
consoleficonsole | ip address dhop

adminfwvty0 jusername cisco privilega 15 password cisco

admindvty0 |tconfig: USER TABLE MODIFIED

A client is concerned that passwords are visible when running this show archive log config all. Which router configuration is needed to resolve this issue?

A. MASS-RTR(config-archive-log-cfg)#password encryption aes
B. MASS-RTR(config)#aaa authentication arap

C. MASS-RTR(config)#service password-encryption

D. MASS-RTR(config-archive-log-cfg)#hidekeys

Answer: D

Explanation:
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RARpN ote Enabling the hidekeys command increases secunty

LEVICE (COnllg-archlve-1o0-Conllg)® NICEHEYS by preventing password miormation from being

displayed in configuration fog files

NEW QUESTION 453

- (Exam Topic 2)

Refer to the exhibit.

router aospf 1

redistribute eigrp 1 subnets route-map EIGRP->0OSPF

|

router eigrp 1

network 10 0.106 0 0.0 0.255

|

route-map EIGRP->0SPF permit 10

maltch ip address WAN_PREFIXES

route-map EIGRP->0OSPF permit 20

match ip address LOCAL PREFIXES

route-map EIGRP--0OSPF permit 3

match ip address VPN _PREFIXES

I

ip prefix-ist LOCAL_PREFIXES seq 5 permit 172.16.0.0/12 le 24
ip prefix-list VPN_PREFIXES seq 5 permit 192 168.0.0/16 le 24
ip prefix-ist WAN_PREFIXES seq 5 permit 10.0.0.0/8 le 24

|

The network administrator configured redistribution on an ASBR to reach to all WAN networks but failed Which action resolves the issue?

A. The route map must have the keyword prefix-list to evaluate the prefix list entries

B. The OSPF process must have a metric when redistributing prefixes from EIGRP.

C. The route map EIGRP->OSPF must have the 10.0.106.0/24 entry to exist in one of the three prefix lists to pass
D. EIGRP must redistribute the 10.0.106.0/24 route instead of using the network statement

Answer: A

Explanation:

In order to use a prefix-list in a route-map, we must use the keyword “prefix-list” in the “match” statement. . For example:
match ip address prefix-list WAN_PREFIXES

Without this keyword, the router will try to find an access-list with the same name instead.

NEW QUESTION 458
- (Exam Topic 2)

Refer to Exhibit.
"l-’-l Fr: l'"#“” i

BRANCH (config)# ip route 0.0.0.0 0.0.0.0 172.16.35.7 track 1

BRAN( H‘-"If'ﬂ!l'l]. ip route O0.0.0.0 0.0.0.0 172.16. 3¢ & 5

3

|
Hmf‘”‘i'ﬂn! h_]':l-l‘ ip %13 |_
HF.A.Hffinwnh.; Lp 5.]”‘|' llE‘I" ocho 172.16. 3% &

BRANCH (conflg-ip-sla)# timecut 200

BRANCH (confiq-ip-=sla)d frequency &

BRANCH (config)® ip sla schedule | life forever start-time now

Wf.‘li:r*ﬂlﬁlqll track 1 I.II =la 1 rn-l"h«.ll"l[!t"_.'

Traffic from the branch network should route through HQ R1 unless the path is unavailable. An engineer tests this functionality by shutting down interface on the
BRANCH router toward HQ_R1 router but 192.168.20.0/24 is no longer reachable from the branch router. Which set of configurations resolves the issue?

A. HQ_R1(config)# ip sla responderHQ_R1(config)# ip sla responder icmp-echo 172.16.35.2
B. BRANCHY(config)# ip sla 1BRANCH(config-ip-sla)# icmp-echo 172.16.35.1
C. HQ_R2(config)# ip sla responderHQ_R2(config)# ip sla responder icmp-echo 172.16.35.5
D. BRANCH(config)# ip sla 1BRANCH(config-ip-sla)# icmp-echo 172.16.35.2
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Answer: D

Explanation:

In the configuration above, the engineer has made a mistake as he was tracking 172.16.35.6 (the backup path) instead of tracking the main path (172.16.35.2).
Therefore,when he shut down the main path, the track 1 was still up so traffic still went through the main path -> it failed.

To fix this issue, we just need to correct the tracking interface of the main path.

NEW QUESTION 461
- (Exam Topic 2)
Refer to the exhibit. _
172.1.12.3/32 is directly connected, Ethernet0/0
172.1.13.0/24 is directly connected, Ethernet0/1
172.1.13.3/32 15 directly connected, Ethemet0/1
192.168.1.0/24 [110/2]) via 172.1.12.1, 00:04:44, Ethernet0/0
192.168.2.0/24 [110/2) wia 172.1.12.1, 00:04:44_ Ethernet0/0
192.168.3.0/24 [110/2]) via 172.1.13.2, 00.04:44, Ethernet0/1
192.168.4.0/24 [110/2] via 172.1.13.2, 00:04:44, Ethernelt0/1
192,168 5.0/24 is vanably subnelted, 2 subnets, 2 masks
192 168.5 0/24 1s directly connected, Loopback(
L 192.168.5.1/32 1s directly connected, LoopbackO
192.168.6.0/24 1s vanably subnetted, 2 subnets, 2 masks
C 192.168.6.0/24 is direclly connected, Loopback
L 192.168.6.1/32 is direclly connecled, Loopback1

SanFrancisco and Boston routers are choosing slower links to reach each other despite the direct links being up Which configuration fixes the issue?

CQOoOorar

0

Boston Router

router ospf 1
auto-cost reference-bandwidth 1000

SanFrancisco Router

router ospf 1
auto-cost reference-bandwidth 1000

All Routers

router ospf 1
auto-cost reference-bandwidth 100

All Routers

router ospf 1
auto-cost reference-bandwidth 1000

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D
NEW QUESTION 465

- (Exam Topic 2)
Refer to the exhibit.

192, 168, 1.0/ 24 192.168.3.0/24

EQjo]

Kl

E0/0
I.'i.“.HH:J 13.0/24 Sorisl 170

H3

Serial 1/

192.168.12.0/24 192 168.23.0/ 24

Serial 1/0  Serial 1/1

192, 168.2.0/24
EOQf1

192.168.24.0/ 24
E O/O

R4 192 168 4.0/ 24
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# Show IP route on R1

192.168.1.0/24 is variably subnetted, 2 subnels, 2 masks
192.168.1.0/24 is directly connected, Ethemet0/0
192.168.1.1/32 is direclly connected, Ethernet0/0
192.168.2.0/24 [90/2297856] via 192.168.12.2, 00:02:14, Seral1/1
192.168.3.0/24 [1/0] via 192.168.12.2

192.168.12.0/24 is variably subnetted, 2 subnets, 2 masks

v o rr 0

O

192.168.12.0/24 is direclly connected, Senal1/1
192.168.12.1/32 is directly connected, Senal1/1
192.168.13.0/24 is vanably subnetted, 2 subnets, 2 masks

O

192.168.13.0/24 is directly connected, Serial1/0
192.168.13.1/32 is directly connected, Serial1/0
192.168.23.0/24 [90/2681856) via 192.168.13.3, 00:06:38, Serial1/0
[90/2681856] via 192.168.12.2, 00:06:38, Serial1/1

o r

All the serial between R1, R2, and R3 have the Same bandwidth. User on the 192.168.1.0/24 network report slow response times while they access resource on
network 192.168.3.0/24. When a traceroute is run on the path. It shows that the packet is getting forwarded via R2 to R3 although the link between R1 and R3 is
still up. What must the network administrator to fix the slowness?

A. Change the Administrative Distance of EIGRP to 5.
B. Add a static route on R1 using the next hop of R3.
C. Remove the static route on R1.

D. Redistribute theR1 route to EIGRP

Answer: C

NEW QUESTION 468
- (Exam Topic 2)

ipvb access-list inbound
permit tcp any any

deny ipvé any any log

!

interface gi0/o0

ipvé traffic-filter inbound out

Refer to the exhibit. A network administrator configured an IPv6 access list to allow TCP return traffic only, but it is not working as expected. Which changes
resolve this issue?

A. ipv6 access-list inbound permit tcp any any syn deny ipv6 any any loglinterface giO/Qipv6 traffic-filter inbound out

B. ipv6 access-list inbound permit tcp any any syn deny ipv6 any any log'interface gi0/Qipvé6 traffic-filter inbound in

C. ipv6 access-list inbound permit tcp any any establisheddeny ipv6 any any loglinterface giO/Oipv6 traffic-filter inbound in
D. ipv6 access-list inbound permit tcp any any established deny ipv6 any any loglinterface gi0/Qipv6 traffic-filter inbound out

Answer: C

NEW QUESTION 472
- (Exam Topic 2)
Refer to the exhibit.
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LAN: 192.168.100.0/24 LAN: _192.168.200.0/24

Head Office

oY .
f-i_* s Cloud /
D OSPF Area 1

FO/0
4 Branch Router

Fin
-

Lo: 1.1.1.1

LAN: 172.16.1.0/24

A network administrator reviews the branch router console log to troubleshoot the OSPF adjacency issue with the DR router. Which action resolves this issue?

A. Advertise the branch WAN interface matching subnet for the DR site.
B. Configure matching hello and dead intervals between sites.

C. Configure the WAN interface for DR site in the related OSPF area.
D. Stabilize the DR site flapping link to establish OSPF adjacency.

Answer: A

NEW QUESTION 475
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